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1. HEJIX U 3AJIAYN OCBOEHU S TUCHUITJINHBI

1.1. Henbto ocBOEHUS AUCHUILTUHBI « JKOHOMHUECKas Teopus. [IpakTruueckoe npusoxxeHue (Ha
AQHTIIUHCKOM SI3BIKE)» SBISETCS (OPMHUpPOBAHWE TMPEACTABICHUH O MHUKPOIKOHOMUYECKHX H
MaKpPOIKOHOMHYECKHX OCHOBaX (PYHKIIMOHUPOBAHUS SKOHOMHUKH.

1.2. 3ama4u 0CBOEHUS AUCIUAIUINHEL:

-opmMupoBaHue NPEICTABICHUS O Pa00OTEe PHIHOYHOTO MEXAHU3Ma, «IIPOBAIaX PHIHKA», POJIU U
MecTe TOCYAapCTBa B PEICHUH SKOHOMHUYECKUX TPOOIeM;

-U3y4eHNE OCHOBHBIX IOJIOKEHHI TEOPUHU CIPOCa U MPEJIOKEHHS, TeOpUnu (UPMBI, TEOPHH
3IIACTUYHOCTH CIIPOCa U MPEATIOKEHHUS;

pacro3HaBaHWE THUIIOB PBIHOYHBIX CTPYKTYp, (opMHpoBaHHE MpeacTaBieHUs 00 uX
3¢ (HEeKTUBHOCTH,

-II0JTy4€HHE HAaBBIKOB MIPUMEHSTh 3HAHUS JJIs1 PEILICHUs TPAKTUYECKUX BOIPOCOB, CBSI3aHHBIX C
(YHKIMOHUPOBAHUEM U PAa3BUTHEM (PUPMBI.

-J1aTh MPEICTaBJICHHE O COBOKYIHOCTH MAaKpPOIKOHOMHYECKHMX IIOKa3zaresneil, 00 OCHOBHBIX
B3aMMOCBSI35X B MAKPOIKOHOMUKE;

-BBISIBUTH OCHOBHBIE MOJIOXKEHHSI TEOPUHU COBOKYIHOTO CIPOCA U COBOKYITHOTO MPEIOKECHHUS,
TEOpUU JIeHeT, MHQIIAIHUHA, 0e3pa0doTUIBI, SKOHOMHUYECKHUX IMKJIOB, MEXIYHAPOIHOW TOPTOBIU U
(HHAHCOB;

-TIPOTHO3UPOBATH MOCIIEACTBUS ICHE)KHO-KPEAUTHON U OI0/KETHO- HAJIOTOBOM MOJIUTHKH;

- YMETh MPUMEHSTH NOTyYCHHbIC 3HAHUS JJIs1 PEIICHUS MPAKTUYECKUX BOIPOCOB, CBA3AHHBIX C
(YHKIIMOHUPOBAHUEM U Pa3BUTHEM SKOHOMHUKH.

2. MECTO JUCIUAIIJIMHBI B CTPYKTYPE OIIOII

21. VYueOHas jucuMIUIMHA <«OKOHOMHUYecKas Teopus. IIpakTuueckoe mnpuioxeHue (Ha
QHIJIMHCKOM SI3BIKE)» OTHOCUTCS K BAPUATUBHOM YacTH (DJICKTHBHBIC TUCIIUTUINHBI).

2.2. JucuumumHa «OKoHOMMYecKas Teopus. IlpakTuueckoe mpuioxeHue (Ha aHITIUIICKOM
A3bIKE)» Oazupyercs Ha 3HAHUSAX, NOJYYEHHBIX B paMKax LIKOJIbHBIX KypcOB «HOCTpaHHBIN S3BIK»
(aHrmuiickuii  sA3bIK) M «OKOHOMHKa» WJIM  COOTBETCTBYIOUIMX  JUCHUIUIMH  CPEJIHEro
poeCCHOHAIBHOTO 00pa30BaHUsI.

2.3. llepeueHb MOCHENYIOIUX Y4YEOHBIX TUCHMIUIMH, JUIS KOTOPHIX HEOOXOIMMBI 3HaHUS,
YMEHHMSI U HaBbIKU, OpMUpPYEMBbIE TaHHOW y4eOHON JUCLMIIIMHOMN:

- «MakposkoHOMuUKa-2. [IpakTHueckoe NpuiIoKeHue (Ha aHTIIHICKOM S3BIKE)Y,
«MukposkoHoMuka-2. [IpakTuueckoe nNpuiokeHue (Ha aHITIMHCKOM S3bIKe)», « HCTUTYIIMOHAIbHAS
9KOHOMHMKaA», «DHUHAHCB», «IJKOHOMHMKA Tpyna», «Teopus oTpacineBbIX pbIHKOB. [IpakTtmdeckoe
NPUIOKEHUE (Ha aHTJIMHCKOM si3bIKe)», «Mukpo3koHoMuka-2», «MUKpO3KOHOMUKA-2)» U JIp.

3. KOMIIETEHIIMHX OBYYAIOLIETI'OCsl, ®OPMUPYEMBIE B PE3YJIbTATE
OCBOEHMUS JTUCHUIIJIMHBI (MOAYJIS)

[Tporiecc wu3yueHUs OUCUUIUIMHBI (MOAYJIsS) HampaBieH Ha (QOPMHUPOBAHUE DSIEMEHTOB
cnenyromux komnereHuui B coorserctBun ¢ ®I'OC BO u OIIOII BO no ganHOMy HalpaBlI€HHIO
MOJTOTOBKH (CTIEUATIBHOCTH):

a) obwekynpTypHbIX (OK):

- CIIOCOOHOCTH K JIOTMYECKOMY MBIIIJICHUIO, apIYMEHTHUPOBAHO U SICHO CTPOUTh YCTHYIO U
MHCbMEHHYIO Pe4b, BECTH MmojieMuKy u nuckyccun (OK-7);
- CIIOCOOHOCTH K JICJIOBOMY OOIIEHUIO, MPO(PECCHOHATBHON KOMMYHHKAIIMM Ha OJHOM U3
UHOCTpaHHBIX 513b1K0B (OK-11).
0) obmenpodeccuonanbubix (OIIK): -;
B) nipodeccuonanbHbIX (I1IK): -.



Taoauna 1

JlekoMmio3unus pe3yjibTaToOB 00yUYeHUs
HnaHpreMHe PE3yabTaThl OCBOCHHA JUCHUIIIINHBI

Kona xommerenmn

3HaTh YmeTh Bnanets

OK-7 HOPMBI, TIpaBWJa ¥ | JIOTHYECKH BEpHO, | HABBIKAMH  CO3JaHUS
CIIoco0bI CO3JaHUsl | apryMEHTUPOBAaHO YCTHOM U MUCbMEHHON
MUCbMEHHBIX U YCTHBIX | CTPOMTh  YCTHYIO U | peud, BEACHUS
TEKCTOB, a  TaKke | MMCbMEHHYIO pedsb, | AMCKyccUu Ha
rpaMMaTHKy, BECTH IMCKYCCHIO Ha AHTITUHCKOM S3BIKE B
o0ecreYrBalouIyIo AHTJIMKACKOM SI3bIKE B yueOHo-
KOMMYHHKALIUIO yuebHo- npogeccuoHaNbHON
obmero xapakTepa 0e3 podeCCHOHATTEHOM chepe.

HMCKOKCHHUSI cMbIca | cdepe.
Opd THCBMEHHOM H
YCTHOM OOIICHUY.

OK-11 0a30ByI0 - HCIOJNIb30BaTh 3HAHME | - OCHOBaMM JI€JIOBOTO
00IIeYTOTPEOUTENBHYIO | HHOCTPAHHOTO SI3bIKa B | OOIIEHUS B YCTHBIX M
JIEKCUKY 1 | mpodeCCHOHAITBHOM MUCBMEHHBIX  (opMax;
CIICIMaJIbHYIO JACATCIIbHOCTHU U HWHOCTPAHHBIM  A3BIKOM
TEPMUHOJIOTUIO Ha | MEXKJIMYHOCTHOM B 00BéME,
WHOCTPAaHHOM  SI3BIKE, | OOIICHUH; HEOOXOIUMOM IS
0a3oBbIe - YUTaTh U MEPEBOJIUTh | TIOITYYCHUS
rpaMMaTUi4CCKUC TEMBI HWHOA3BIYHYIO I/IH(I)OpMaHI/II/I nu3
WHOCTPAHHOTO  SI3bIKA, | IUTEPaTypy, CTPOUTH 3apyOeKHBIX
obecrievnBaronue CBS3HBIE  YCTHBIE ¥ | UCTOYHHKOB;
KOMMYHUKAIIUIO 10 | TMCbMCHHBIC - TEeXHUKOU BEACHUA
pod U0 BBICKa3bIBaHU, KPATKO | JCJIOBOW  Oecempl U
CIEIMAIFHOCTH. o0ocHOBaThU MIEPETINCKH, JIEKCUKOH,

OOBSCHUTH CBOIO TOUKY | HEOOXOIMMOM TUTSt

3peHUs 10 aKTyaJbHOU OCYILIECTBIICHUS

mpobiieme. JTAHHBIX 327129 B
npohecCuoHaIBHON
KOMMYHUKATHUBHOU
cpere.

4. CTPYKTYPA U COAEP KAHUE JUCHUIIVIMHBI (MOAYJISA)
O0beM OUCHMIUIMHBL 4 3aUueTHbIe eAUHUIIBI - 144 Yaca, 13 HUX Ha KOHTAKTHYIO paboTy oOydaromuxcs ¢
npernojaBareneM - 12 4. mpaktuueckux; 132 4. camocrosiTensHas padora.

Tabauua 2. CTpyKkTypa u copep:kaHue JUCHUILTHHBI (MOIYJIS)

KoHnrakTHas CaMOCTOST @OpMBI TEKYIIETO KOHTPOJISA
ol & 8 pabota pabora " | ycmeBaeMocCTH (no Hedensam
Ne | HanmenoBanue | Q| 5 5 (B yacax) cemecmpa)
n/n | pagena (TeMbl) | 2 E = dopma MpoOMEKYTOIHOU
O|= 3| 1 | m3|JP | KP | CP aTTecTauH (110
cemecmpam)

1 Theme 1. 1 |14 1 14 Ompoc, peiTuHronas
Introduction in KOHTpOJIbHAs paboTa Nel
economic theory

2 Theme 2. 1 |58 1 14 Onpoc, peiHTHHrOBas
Demand and KOHTpOJIbHAs paboTa No2
Supply: How
markets works




3 Theme 3. 1 |9-12 1 14 Omnpoc, peiTuHrOBast
Markets and KOHTpOJIbHAs pabota Ne3
Welfare

4 Theme 4. The 1 13- 1 14 Omnpoc, peiiTHHTOBas
economics of the 15 KOHTpOJIbHAs paboTa N4
public sector

5 Theme 5. Firm 1 | 16- 1 14 Onpoc, pedTHHTOBas
behavior and the 18 KOHTPOJIbHAs paboTa No5
organization of
industry. Factors
markets.

6 Theme 6. 2 |14 1 14 Ompoc, peUTHHTOBas
Measuring the KOHTPOJIbHAs paboTa Ne6
Costs of Living.

Production and
Growth.

7 Theme 7. 2 |58 1 14 Ompoc, peiiTuHroBas
Financial KOHTpOJIbHAs paboTta No7
institutions in
economy.

8 Theme 8. 2 | 911 1 14 Onpoc, pedTHHTOBas
Unemployment KOHTpOJbHAs paboTa Ne§
and its natural
rate.

9 Theme 9. The 2 | 12- 2 14 Ompoc, peATHHroBas
Monetary 14 KOHTpOJIbHAs paboTta Ne9
system..

10 | Theme 10. 2 | 15- 2 6 Ompoc, peATuHroBas
Money growth 18 KOHTpOJIbHAs paboTta Nel0
and Inflation.

UTOT'O 12 132

VYcnoBHBIE 0003HAUECHUS:

JI — 3ansTus nekunonHoro tuna; I13 — npakruueckue 3ansarus, JIP —
nabopaTtopubie padoTel; KP — kypcoBast pabora; CP — camocTositenbHast

pa60Ta IO OTACJIIbHBIM TCMaM

Tadauna 3. MaTpuna cooTHeceHHsI TeM/pa3/ieioB y4eOHOi

AUCHUILIMHBI/ MOYJISA
U GopMUpPYeMbIX B HUX KOMIIeTeHIUil
Tewmsl, Kon- | Kommerenmuu obriiee
pasnaensl BO OK-7 | OK-11 KOJINYECTBO
JAUCHUITIMHBI 4aCoB KOMHeTeHLII/Iﬁ

Theme 1. Introduction in economic theory 15 + + 2

Theme 2. Demand and Supply: How markets works | 15 + + 2

Theme 3. Markets and Welfare 15 + + 2

Theme 4. The economics of the public sector 15 + + 2

Theme 5. Firm behavior and the organization of 15 + + 2

industry. Factors markets.

Theme 6. Measuring the Costs of Living. Production | 15 + + 2

and Growth.

Theme 7. Financial institutions in economy. 15 + + 2

Theme 8. Unemployment and its natural rate. 15 + + 2

Theme 9. The Monetary system. 126 + + 2




Theme 10. Money growth and Inflation. 8 + + 2
Hroro 144

5. IEPEYEHb YYEBHO-METOJANYECKOI'O OBECIIEYEHUSA
JIJII CAMOCTOSATEJBHOM PABOTBI OBYUAIOIINUXCS

5.1. Yka3aHus 10 OpraHu3aliy U MPOBEICHUIO JICKIIMOHHBIX, MPAKTUYECKUX (CEMUHAPCKUX) U
71a00PaTOPHBIX 3aHATHUH C IIEpeYHEM yueOHO-METOINYECKOr0 00ECIeUCHNU .

CamocrositenpHas  paboTa  CTYAEHTOB IO JAUCHMIUIMHE «ODKOHOMHYECKAas  TEOpHSL.
[IpakTuyeckoe mnpuiaokKeHHe (Ha AHTIIMHCKOM SA3BIKE)» MpPEAIojaraeT IMOATOTOBKY K KaXIOMy
CEMUHAPCKOMY 3aHSATHIO, BKITIOUYAIONIYI0 Pa0OTy ¢ y4eOHOM, HaydHOU U CIIPAaBOYHOH JINTEpaTypoH, a
TaKXe MPOpadOTKY KIIFOYEBBIX TEPMUHOB 10 KAKIOH TEMeE.

[IpoBepka BBINOIHEHUS 3aIlaHUH OCYILECTBIISIETCS] HA CEMUHAPCKHUX 3aHATUSAX KaK C IOMOUIBIO
YCTHBIX BBICTyHHeHI/Iﬁ CTYACHTOB U UX KOJUICKTUBHOI'O O6C}’)KI[€HI/I$I, TakK 1 C IIOMOIIIBIO MMACEMEHHOMN
KOHTPOJIbHOM palboThl, BKJIIOUYAIOIIEl B ce0s TECTOBBIE 3aJaHMs M BOIPOCHL, TpeOyromue
pa3BepHyTHIi 0TBeT. CamocTosiTeNbHas paboTa 3aKiIrodaeTcs B 6osiee rIryOOKOM U pa3HOCTOPOHHEM
U3y4CHUH TeM y4eOHOW MporpaMMbl MO KypCy AWCHMIUIMHBI M PEKOMEHIOBAHHOW JIUTEPATYypHI.
Taxoke BO3MOXKHBI 3a/laHUSI B BHJE MOMCKAa HEOOXOAMMOW MH(POPMALMU Ha CIIEHUAIN3UPOBAHHBIX
MHTEPHET-Pecypcax U IPyrux UCTOUHHUKAX.

KOHTpOJIB BBITIOJTHEHHOM pa6OTbI OCYIICCTBJIAACTCA Ha OYCPCAHOM CCMHUHAPCKOM 3aHATHU B
dopme ycTHOrO ompoca, cobeceJoBaHHs, JTHUOO0 BBHIOJHEHUS MUCHBMEHHON KOHTPOJIBHOM paboThI U
T.H. 3aI[aHI/I$I IIMCBMCHHBIX pa60T TAKXXC MOT'YT BKIIOYATb BOIPOCBI MHOXKCCTBECHHOI'O BI)I60pa,
OTKPBITHIE U TUCKYCCHOHHBIE BOIPOCH.

B KxoHIIE Ka)/10r0 ceMecTpa MpeayCMOTPEH 3a4eT.

5.2. Yka3anus A 00y4daromuxcsi 1o OCBOSHUIO AUCIUILINHBI (MOIYJIIO)

Taoauua 4.
Copep:kaHue caMOCTOSATEIbHOI padoThI 00yYaIOIIUXCH

Howmep Komn- ®Dopmbl pabOTHI

panena | TeMbl/BOIPOCHI, BBIHOCHMBIE HA CAMOCTOSATEIBHOE H3YUCHNE BO

(Tempr) 4acoB

1 Bbnara, nmorpebHOCTH, pecypchl. ['paHuIa MpOU3BOACTBEHHBIX | 14 Pabora c yueOHO-
BO3MO>KHOCTEH. OKOHOMHYECKHE CHCTEMBI. DKOHOMHYECKas Hay4yHOM U CHpPaBOYHOU
B3aMMOCBS3b M BBITOJBI, KOTOPBIE TPHHOCHUT TOPTOBIIS. JUTEPATYPOH.
CpaBHHUTENBHOE U a0COMIOTHOE MPEUMYIIIECTBO. [MoaroToBka K rpymmnoBoit

mickyccud. Iloaroroska k
pEUTUHTOBOM
KOHTPOJIbHOI pabore.

2 Peiok. Cnpoc u mpemnoxeHue. PoiHouHOe paBHOBecue u | 14 Pa6ora ¢ yue6HO-
MEXaHU3M €ro JOCTIDKEHHA. OJAacTUYHOCTh CIpoca U HAYYHOH U CIIPaBOYHON
MpeUIoKEHHS. Y CJIOBUE MAaKCUMHU3AIUHU JI0X0JI0B MPOJIABIIOB. JUTEPATYPOH.

[IpsiMoe 1 KOCBEHHOE PETYIIMPOBAHUE IIEH TOCYAaPCTBOM. [oaroroBka K TpynmoBoi
muckyccud. [ToaroroBka k
peUTUHTOBOM
KOHTPOJIBHOI pabore.

3 Omnpenenenue SKoHOMHYECKOH Y dexTrBHOCTH. OOz 14 PaGora ¢ yae6HO-
W3JMIIEK, U3THUIIEK TPOU3BOIUTENS U IOTPEOUTELCKUHA HAYYHOH M CIIPaBOYHON
n3MIeK. BiusHue n3MEeHeHHs 1ICH Ha YPOBEHb JUTEPATYPOH.
OnarococtostHus. M3IepKKH HAIOr000I0KEeHNS, IToaroroBka K rpynmnoBoi
MeXyHapOoHasi TOPTOBIISL U OOIIECTBEHHOE OJIarocoCTOSIHUE. muckyccud. [ToaroroBka k

peUTUHTOBOM
KOHTPOJIbHOI pabore.
4 Brenraue > dextsl. YacTHbIe penieHus npooiieM BHEITHUX 14 PaGora ¢ yae6HO-




sddexTo. [TomuTrueckoe perieHre MpooIeM BHEIITHUX
a¢dexron. O6iiecTBeHHbIe Oyara. Ooume pecypcebl. Hanoru u
s pexTuBHOCTL. Hasmorn u cipaBe 1yInBOCTS.

Hay4YHOW U CIIPaBOYHOM
JIUTEPATypPOU.
IToaroroBka Kk rpynmnoBoi
nuckyccuu. [loaroroska
PEUTUHTOBOM
KOHTPOJIBHOI padore.

5 BamoBoi#t moxom w mpuObule. YcnoBue Makcummsarnww | 14 Pa6ora ¢ yue6Ho-
puosLTH. CpemHue, mpeaelibHbIEC M 00IIHe U3ISPKKH (BUPMBI HayJHOW W CIIPABOYHOM
B KOPOTKOM H JOJTOM mepuone. PerieHue KOHKYpPEHTHOH JUTEPATYPOH.
¢upMel 00 0OBEMe MPOU3BOJACTBA B KOPOTKOM H JOJITOM [oaroToBka K rpynmnoBoi
nepuofe. CoBepIIEHHO KOHKYpEeHTHass (upMa: yCIOBHUS nuckyccun. [lonroroska x
MOy YeHUs MaKCHUMaIbHOM npuoObLH, BPEMEHHOTO pEUTHHTOBOM
MpeKpameHus MPOU3BOACTBA W 3aKpbITHA. OIUTONONHA. KOHTPOJIBHOI padore.
Monononuctrdeckas KOHKypeHuus. @akTopsl TpyAa, 3eMId U
KaIuTania.

6 Hoxonpl u pacxoabl B dKkoHomuke. M3mepenme BBIIL. | 14 Pa6ota ¢ yueOHo-
CocraBmsiromiue  BBII. Yposens BBII u skoHOMuueckoe Hay4HOHU U CIPaBOYHOU
071arococTosiHKE. Wnnexc MOTPEOUTENBCKUX LICH. JUTEPATyPOH.
KoppekTnpoBka 3KOHOMHUYECKHX MMapaMeTpoB C YYETOM [oaroToBka K rpynmnoBoi
a¢dexra nHIAIMN. [[pOU3BOACTBO M IKOHOMHYECKUH POCT. muckyccnu. [loaroroska k
[Ipon3BOAUTENBHOCTh TPyJa M ONpENEIsIomne e¢ (HakTophl. PEHTHHTOBOM
OKOHOMMYECKHUH POCT U MOJUTUKA TOCY1apCTBa. KOHTPOJIGHOM padoTe.

7 DuHAHCOBBIC PBIHKH. DuHAHCOBBIC nocpenHukn. | 14 Pa6ora ¢ yuebHo-
COepexxeHMs M WHBECTUIMU. PBIHOK 3aeMHBIX CpEJICTB. HAy4HOH U CIIPAaBOYHOM
[lomuTka B  OTHOIIEHWHM  HAJIOTOB, COEpPEKEHUH W JUTEPATYPOU.
WHBECTHULIUN. IToaroroBka kK rpynmnoBoi

nuckyccuu. [loaroroska k
PEUTUHTOBOM
KOHTPOJIBHOH paboTe.

8 Onpenenenne  TOHATUS ~ 0e3pa0OTHUIBI.  3aKOHBI u| l4 Pabora ¢ yueOHO-
MUHUMAIIbHON 3apaboTHoil mate. Teopust 3¢deKTUBHOM Hay4HOHU U CIPaBOYHOM
3apaboTtHoM TuiaThl. [lonck paboThL. JUTEPATYPOH.

IToaroroBka kK rpynmnoBoim
nuckyccuu. [oaroroska k
pEUTUHTOBOM
KOHTPOJILHOMH padoTe.

9 Ponb wu 3Hauenue pener. Dynkumm gener. CymHocTs | 14 Pabora ¢ yueOHO-
LEHTpaJbHBIX OaHKOB. baHKM ¥ TpenioKeHue JIeHer. HAYYHOM U CIIPaBOYHON
JleHeXXHBIH MYJIbTUIUIMKATOP. (DHHAHCOBBIE HHCTPYMEHTHI JUTEPATYPOH.

JIEHEI)KHOI'0 KOHTPOJIA. IToaroroBka k rpynmnoBoin
nuckyccuu. [loaroroska k
pEUTUHTOBOM
KOHTPOJILHOM padoTe.

10 VYpoBeHs 1IeH U LIeHHOCTh JieHer. [Ipeanoxenne neHer, crpoc | 6 Pa6ora ¢ yue6Ho-

Ha JIGHbIM U  JICHEXKHOE  paBHOBECHE.  YpaBHEHUE
KOJTMICCTBEHHOU TeOpHH JIcHeT. M3 aep Kk nHQISAINH.

Hay4YHOW U CIIPaBOYHOM
JIUTEPaTypOu.
IToaroroBka K rpynmnoBoi
muckyccuu. [logroroska k
peUTUHTOBOM
KOHTpPOJIBHOH paboTe.

BBITTOJITHACMBIC 06y‘-IaIOIJ_II/IMI/ICSI CaMOCTOATCIIbHO.

CTYACHTA, PA3BUTHUC ITPAKTHUICCKUX yMeHHﬁ, BKJIIOYAET B CEOs:

5.3. Bunsl u ¢popmbl MUCbMEHHBIX PadoT, MPEAYCMOTPEHHBIX ITPU OCBOSHUH JUCHUIUINHBI,
CamocrosiTenbHast paboTa CTy€HTOB, HalpaBieHHas Ha yriyOJleHne U 3aKperuieHne 3HaHu|

-IIOMCK U 0030p JTUTEPATYphl U JIEKTPOHHBIX HCTOYHUKOB HH(GOPMAIIUU 0 WHIUBUAYAIBHO
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3aJlaHHOM TIpo0JIeMe Kypca,

- BBIMIOJIHEHUE JOMAIIIHUX 3a/IaHUH,

- IEPEBO/JI TEKCTOB C MHOCTPAHHBIX SI3bIKOB,

- U3y4YeHHE TeM, BRIHECEHHBIX Ha CAMOCTOATEIbHYIO IPOPabOTKY,
- IOJArOTOBKY, K IPAKTHYECKUM 3aHSITHM,

- MOATOTOBKY K KOHTPOJBHOH paboTe, K 3a4eTy.

KoHnTposib caMocTosTenbHON pabOThI OCYIIECTBISIETCS B BUJIE:

- POBEPKH BBITIOJIHEHUSI KOHTPOJIBHBIX PadoT,

- YCTHBIX OIIPOCOB,

- aHaJIM3a BBINOJIHEHUS CAMOCTOSTENBHBIX JOMAIIHUX 3a/laHuH,

- IPE3EHTAIH PE3yJIbTaTOB CAMOCTOSTEIbHOM paboThl B IpyIIIIE.

6. OBPA3OBATEJIbBHBIE U UTHOOPMALIMOHHBIE TEXHOJIOT U

6.1. OOpa3zoBaTeIbHBIC TEXHOJIOTHHI

Ne Dopmbl Ornucanue

KonrponsHas pabora | CpeacTBo NPOBEPKU YMEHH IPUMEHSTH MOJTYyICHHbIC 3HAHUS
JUISL pEIICHHs 33/1a4 ONIPEICIICHHOTO THIIA [10 TEME WU
pazzueny

Huckyccun OO6cyxneHne Kakoro-11ubo Bompoca ¢ HaMepeHUeM JOCTUYb
B3aUMOINPHUEMIIEMOTO pelIeHus. JIUCKyCcCHsl SIBIISIETCS
Pa3HOBUAHOCTBIO CIIOpa, OJIM3Ka K MOJIEMUKE, U TPEACTABIISET
c000M CepuIo YTBEPKICHUM, 110 OUEPEIH BBICKA3hIBAEMBIX
YYACTHUKAMH.

6.2. adopmarimoHHbIC TEXHOJOTUH

- WCHOJBh30BaHHWE BO3MOXKHOCTeH IHTepHera B ywyeOHOM mporecce (HMCIOIB30BaHHE
MHGOPMALIMOHHOTO caifTa mpenoaasarens (pacchbUlKa 3aJaHuil, IPEJOCTaBICHUE BBITOJHEHHbIX
paboT, OTBETHI HA BOMPOCHI, 03HAKOMJICHUE YYAILUXCSI C OLIEHKaMH U T.1.))

- HCIIOJIb30BAaHUE DJICKTPOHHBIX YUYEOHHMKOB U pa3jIMYHBIX CAWTOB (HAampHUMeEp, 3JIEKTPOHHBIE
OMOIMOTEKH, )KYpHAIIBI U T.]I.) KaK HCTOYHUK WH(POpMAIIUN

- HCTIOJIb30BaHNE BO3MOXKHOCTEHN 3JIEKTPOHHO MOUTHI penoiaBaTess

- HCIOJIb30BAHUE CPEACTB IMpeAcTaBiIeHUs y4ueOHOM HHpOpManuu (3JIEKTPOHHBIX Y4eOHBIX
nocoOuii M TNPAKTUKYMOB, NPHUMEHEHHE HOBBIX TEXHOJIOTHMH Ui TPOBEJIEHHUS OYHBIX
(TpaAMLIMOHHBIX) JIEKLIUH U CEMUHAPOB C UCIIOJIb30BaHUEM IPE3EHTALNN U T.11.)

- Ilpu peanuzanuu pa3iInyHbIX BUAOB Yy4eOHOM W BHEY4eOHOH pabOThl HCHOIb3YIOTCS
crenyromue WHGOPMAIMOHHBIE TEXHOJOTHH: BHPTyalbHas oOydaromas cpena (WM cucTeMa
ynpapieHust o0ydyenueM LMS Moodle) wnm uHble MHGOpPMAlMOHHBIE CHCTEMBI, CEpBUCHI U
MECCEH/KEPHI.

6.3. [lepeuenp nporpaMMHoro odecreyeHus 1 HHPOPMAITMOHHBIX CIIPABOYHBIX CHCTEM

- JTuyensuonnoe npozpammmuoe odecneuenue

HaumenoBanue nporpaMMHOT0O o0ecTiedeHns Ha3nauenue

Adobe Reader | [Tporpamma 1t IpocMOTpa dIEKTPOHHBIX JOKYMEHTOB

Moodle | O6pa3zoBatenbhblil moptan @PT'BOY BO «AT'Y»

Mozilla FireFox | bpaysep

Microsoft Office 2013,
Microsoft Office Project 2013,
Microsoft Office Visio 2013

[TakeT opuCHBIX TpOrpaMm




7-zip

Apxusarop

Microsoft Windows 7 Professional

OHepaHI/IOHHaH CHUCTEMaA

Kaspersky Endpoint Security

CpeacTBo aHTUBUPYCHOW 3alLIUTHI

Google Chrome

Bpayszep

OpenOffice

[TakeT opuCHBIX TpOrpaMM

Opera

Bpayszep

Paint .NET

PactpoBblii rpadudeckuii pegakTop

- Coepemennvle npogheccuonanvrvle 6a3vl OAHHBIX, UHPOPMAYUOHHBIE CRPABOUHDIE CUCH EMbL
Ilepeyennb 31eKTPOHHO-0MOIHOTeYHBIX cucTeM (IBC)

1. DnexrpoHHas OuONMMOTEKa «ACTpaxaHCKUH TOCYAApCTBEHHBI YHHBEPCHTET» COOCTBEHHOMN

reHepanuu  Ha Mmnathpopme OBC «Onektponnbiii Yutaneueiii 3am — bubmuoTex».
https://biblio.asu.edu.ru
2. DnextponHo-oubnunoreunas cucrtema (ObC) OO0 «llonutexpecype» «KoHcynbTaHT

cTyaeHTa». MHoronpodwibHbld 00pa3oBaTenbHbll  pecypc «KOHCYNbTaHT —CTyneHTa»
SIBJISIETCSI JIEKTPOHHOM OMONIMOTEYHOW CUCTEMOH, MPEJOCTABISIOMECH JOCTYN 4Yepe3 CeTh
WuTepHer k y4eOHOW nHTEpaType M JOTOJIHHUTEIBHBIM MaTepualiaM, MPUOOPETEHHBIM Ha
OCHOBaHMH MPSMBIX JIOTOBOPOB ¢ MpaBooOiajarensMu. Karamor B Hacrosiiee Bpems
coaepxut okojio 15000 HanmeHnoBanuii. Www.studentlibrary.ru.

3. DnextponHas Ou6nmoTedHas cucreMa wm3martenbctBa IOPAMT, pasmen «JlerenmapHeie
KHHATHY. WWW.Diblio-online.ru

4. DnextpoHHas oubmuoreunas cuctema BOOK.ru. www.book.ru

5. DmnekrponHas oubnuoreunas cucrema IPRbooks. www.iprbookshop.ru

6. Dnexrponnas oubmrorexka MITIITY. http://psychlib.ru

Ilepeyenn coBpeMeHHBIX NPOdecCHOHANBHBIX 023 JAHHBIX, HH(POPMAIMOHHBIX CIIPABOYHBIX
cucreM

1. DOnexrponnslii karajor Hayunoil O6uGmuoreku AI'Y na 06aze MARK SQL HIIO «Mudopm-

cuctem». https:/library.asu.edu.ru

OnektpoHHbIid KaTajor «Hayunsie sxypHansl AI'Y». http://journal.asu.edu.ru/

3. YHuBepcanbHas cCIpaBOYHO-UH(OpMAIIMOHHAs MOJHOTEKCTOBas 0a3za JIaHHBIX HEPUOJIUYECKUX
mpannii OO0 "UBUC". http://dlib.eastview.com

4. DrnexrpoHHo-OMONMoTeunas cucrema elibrary. http://elibrary.ru

OnekTpoHHas Oubnunoreka aucceprauuii Poccuiickoil rocynapcrseHHoit ouOmmnorexku (PI'B).

http://dvs.rsl.ru

6. KopmopaTuBHBIII mpoeKkT AccOIManuyd  PETHOHAIBHBIX  OWOJMOTEYHBIX  KOHCOPIMYMOB
(APBUKOH) «MexpernonaneHas aHanutudeckas pocnuch crareit» (MAPC) - cBomnas 6asza
JTAHHBIX, COJIep Kalllasi MOJIHYI0 aHAIUTHYeCcKyro pocnuck 1800 Ha3BaHMII KypHAJIOB IO Pa3HBIM
oTpaciiAiM 3HaHWM. YYacTHMKM INPOEKTa MPENOCTaBIAIOT JPYr JpYry D3JIEKTPOHHBIE KOINHU

OTCKaHUPOBAHHBIX CTaT€d W3 KHUT, COOPHUKOB, KYypHAJOB, COJAEpKAmMUXCA B (POHIAX HX
oubmoTexk . http://mars.arbicon.ru

N

o

7. Cnpasounast npaBoBas cucreMa Koncynbsrantllntoc.

ConepXuTcss OTpOMHBIH MacCHB CIPAaBOYHOM MpaBoBOM HHpOpMaIuH,

pPETHOHAIBHOE  3aKOHOJATENILCTBO, CYNEOHYIO IPaKTHUKY,
KOHCYJIbTAllUM,  KOHCYJIbTAMU I OHOKETHBIX

poccuiickoe H
(uHaHCOBBIE U KaJpOBBIE
OpraHu3alnyii, = KOMMEHTApUU
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https://biblio.asu.edu.ru/
http://www.studentlibrary.ru/
http://www.biblio-online.ru/
http://www.bооk.ru/
http://www.iprbookshop.ru/
http://psychlib.ru/
https://library.asu.edu.ru/
http://journal.asu.edu.ru/
http://asu.edu.ru/images/File/dogovor_IVIS1.pdf
http://asu.edu.ru/images/File/dogovor_IVIS1.pdf
http://dlib.eastview.com/
file:///C:/Users/Инна/Desktop/Акредитация/Соврем.профес.%20базы%20данных/Электронно-библиотечная
http://elibrary.ru/
http://dvs.rsl.ru/
http://mars.arbicon.ru/

3aKOHOJAATEIbCTBA, (OPMBI JTOKYMEHTOB, MPOEKTHl HOPMATHUBHBIX IPABOBBIX AaKTOB,
MEXIYHApPOJAHbIE TPABOBBIE AKThI, IPABOBHIE aKThl, TEXHUYECKHE HOPMBbI U MPABUJIA.
http://www.consultant.ru
8. Hudopmarmonno-npaBoBoe obecrieuenne «Cuctema FTAPAHT».

B cucreme 'APAHT npencrasiensl denepaibHble U pErHOHAIbHBIC PABOBBIE aKThI, CyAcOHAs
MpaKkTUKa, KHUTH, OSHIMKJIONEINN, WHTEPAKTUBHBIC CXEMbl, KOMMEHTApUHU BEIYIIHX
CHEIMAJICTOB ¥ MaTepHalibl H3BECTHBIX MPO(ECCUOHATBHBIX U3/IaHUM, OJaHKU OTYETHOCTH U
00pas3ibl I0rOBOPOB, MEXKIYHApOIHBIE COTJAIICHHs, MPOEKThl 3aKkOoHOB. I[IpemocraBiser
JocTyn K (QenepalbHOMY M PErMOHAIBHOMY 3aKOHOAATEIbCTBY, KOMMEHTAapusM U
pa3psicHeHUsIM W3 Beaymux npodeccnoHanmbHbix CMUM, KHUTaM ©  OOHOBIJISIEMBIM
SHIUKJIONEIUSM, THUIOBBIM (OopMaM JOKYMEHTOB, CYIACOHON MpakTHKE, MEXIyHApOIHBIM
JIOTOBOpaM H JIpYroil HopMmaTHBHOW WH(popManuu. Bcero B Hee BKIIOUEHO Oonee 2,5 MITH
JTIOKyMEHTOB. B mporpamme mpexacraBieHsl gokyMeHTh Oonee 13 000 denepaibHbIX,
PErHOHANIBHBIX U MECTHBIX YMUTEHTOB.

http://garant-astrakhan.ru

7. @OHJ OHEHOYHBIX CPEACTB JUISI TEKYIIETO KOHTPOJISI 1
IMPOMEXKYTOYHOU ATTECTALIUN
7.1. ITactiopT oHIa OLIEHOYHBIX CPENICTB.

Tab6uamua S.
CooTBeTCTBHE H3y4YaeMbIX Pa3/1e/ioB, Pe3yJbTaTOB 00yUYeHHUsI M OLICHOYHBIX CPeICTB
Ne | KoHtponupyemble pa3aeibl IUCHUTIIINHBL Kon xourponupyemoii HaumenoBanue
n/m (Momyst) KOMIICTCHIN OIICHOYHOTO CPEJICTBa
(KoMTeTEeHIHI)
1 Theme 1. Introduction in economic theory OK-7, OK-11 CobecenoBanue, KOHTPOJIbHAS
pabora Nel
2 Theme 2. Demand and Supply: How OK-7, OK-11 CobecenoBanune, KOHTPOJIBbHAS
markets works pabora Ne2
3 Theme 3. Markets and Welfare OK-7, OK-11 CobecemoBanme, KOHTPOJIbHAS
pabota Ne3
4 Theme 4. The economics of the public OK-7, OK-11 CobeceoBanue, KOHTPOJIbHAS
sector paGota Ne4
5 Theme 5. Firm behavior and the OK-7, OK-11 CobecenoBanue, KOHTPOJIbHAS
organization of industry. Factors markets. pabota No5
6 Theme 6. Measuring the Costs of Living. OK-7, OK-11 CobecetoBanue, KOHTPOJIbHAS
Production and Growth. pabota Ne6
7 Theme 7. Financial institutions in OK-7, OK-11 CobecenoBanue, KOHTPOJIbHAS
economy. pabora No7
8 Theme 8. Unemployment and its natural OK-7, OK-11 CobecenoBanue, KOHTPOJIbHAS
rate. pabora Ne§
9 Theme 9. The Monetary system.. OK-7, OK-11 CobecenoBanre, KOHTPOJIbHAS
pabota Ne9
10 | Theme 10. Money growth and Inflation. OK-7, OK-11 CobecenoBanre, KOHTPOJIbHAS
pabora NelO

7.2. Onicanue nokasateliei ¥ KpUTEPUEB OIEHUBAHUS KOMIICTCHIINM, ONTMCAHUE IITKAJT OT[CHUBAHHS

Tadauua 6

IMoka3aTe/iu oLleHUBaHUs Pe3yJIbTATOB 00y4YeHHs B BU/Ie 3HAHU I

[IIxana Kpurepun onienuBanus
OIICHUBAHUS



http://www.consultant.ru/
http://garant-astrakhan.ru/

JEMOHCTPHUpPYET TIyOOKOE€ 3HAHHE TEOPETHUECKOTO MaTepuana, YyMEHUe

5 000CHOBAHHO U3J1araTh CBOM MBICIIH 1O 00CY»/1aeMbIM BOIIPOCAM, CIIOCOOHOCTh
«OTJIIMYHO» | MOJIHO, IPABUIILHO U apTYMEHTHPOBAHHO OTBEYATh Ha BOIIPOCHI, IPUBO/IUTh
HPUMEPBI
4 JIEMOHCTPUPYET 3HaHUE TEOPETHYECKOr0 MarepHuaja, ero IOCIe0BaTeIbHOe
«XOopouo» HU3JI0KCHUC, CIOCOOHOCTD NpUBOAUTL MPUMCPBI, JOIIYCKACT CIAWHUYHBIC
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OLIMOKH, UCTIpaBJIIEMBIE TIOCIIE 3aMEYaHus MPENOoAaBaTeNs
3 JEMOHCTPUPYET  HEMOJHOe,  (parMeHTapHOE  3HAaHHE  TEOPETHUYECKOTO
(Y IOBIETBOPH MmarepHaia, Tpedyroliee HaBOIAIIUX BOIIPOCOB IPENoiaBaTes, J0IyCKaeT
TCIBHOY CYIIECTBEHHBIE OMIMOKHU B €T0 U3JI0KECHUH, 3aTPYJHICTCS B IPUBEACHUHN
IPUMEPOB U (POPMYIUPOBKE BHIBOIOB
2 JIEMOHCTPHUPYET CYIIECTBEHHBbIE IPOOEIIbl B 3HAHUM TEOPETUYECKOI0 MaTepHaa,
«HEY/OBJETBO | HE CHOCOOEH €ro HU3JIOKUTh U OTBETUTb Ha HABOJSIIME  BOIPOCHI
PUTEIIBHO» | MPENOJABATENsl, HE MOYKET IIPUBECTU IIPUMEPDI

7.3. TumoBble KOHTPOJIbHBIC 3aJaHUSI UM UHbIE MaTepUaIIbl, HEOOXOAUMBIE JIsl OLIEHKU 3HAaHUH,
YMEHHM, HaBBIKOB U (MJIH) OTbITA JI€ATEIbHOCTH.

3aaHus K KOHTPOJIbHOI padore Nel:

Bapuanr 1.
1. Choose a correct variant:

1. Which of the following is not included in the circular-flow diagram:

A) firms

B) households

C) factors of production

D) activities of the state

2. If the point is on the border of production opportunities, it means:

A) Inefficient production

B) Effecient production level

C) Unattainable level of production

3. Which of the following applies to microeconomics:

A) The firm's decision to reduce the input capital

B) The impact of net foreign investment on the exchange rate

C) Consequences of state interference in establishing market prices

D) Establishment of an optimal price by a monopolist

4. Which of the following refers to normative statements:

A) The inflation index fell to 5%.

B) The level of income in the US is higher than in Russia.

C) To reduce the inflation rate, it is necessary to increase the interest rate

D) The sharp increase in taxes on manufacturers of alcoholic beverages will lead to an
increase in prices for them.

5. Which of the following relates to the opportunity costs:

A) Remuneration of employees

B) Investments in new production

C) Salary, which you lose when you start your own business

D) Expenses for the acquisition of a new machine

6. In which

cases is the intervention of the state in the functioning of the market justified:

A) regulation of market prices
B) tax collection for road repairs
C) Separation of Gazprom into several independent companies

D) banning

the discharge of factory waste into the river

7. When a society cannot produce all the goods and services people wish to have it is said that
the economy is experiencing

A. scarcity.

B. communism.
C. externalities.
D. market failure.
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8. Which of the following is NOT a major area of study for economists?

A. how people make decisions

B. how countries choose national leaders

C. how people interact with each other

D. how forces and trends affect the overall economy

9. A rational decision maker takes an action only if the

A. marginal benefit is less than the marginal cost.

B. marginal benefit is greater than the marginal cost.

C. average benefit is greater than the average cost.

D. marginal benefit is greater than both the average cost and the marginal cost.

10. An economic outcome is said to be efficient if the economy is

A. using all of the resources it has available.

B. conserving on resources and not using all it has.

C. getting all it can from the scarce resources it has available.

D. able to produce more than its current production without additional resources.

11. Please, determine which expressions are correct and which are not correct and explain:

A) Economists use the term «market failure» to refer to a situation in which the market can
allocate resources efficiently.

B) The economy can produce at any point on or inside the production possibilities frontier,
but it cannot produce at points outside the frontier.

C) The producer who has the smaller opportunity cost of producing a good is said to have a
comparative advantage in producing that good.

1. Explain how absolute advantage and comparative advantage differ. Give some examples.

Bapuanr 2.
1. Choose a correct variant:
1. Economics is defined as the study of
a. business.
b. how society manages its scarce resources.
C. central planning.
d. government regulation.
2. Economists use models in order to
a. learn how the economy works.
b. make their profession appear more precise.
C. make economics difficult for students.
d. make sure that all of the details of the economy are included in their analysis.
3. In the circular-flow diagram, firms are sellers in
a. the goods and services market.

b. the factors of production market.
C. both markets.
d. neither market.

4. Which is the most accurate statement about trade?

a. Trade can make every nation better off.
b. Trade makes some nations better off and others worse off.
C. Trading for a good can make a nation better off only if the nation cannot
produce that good itself.
d. Trade helps rich nations and hurts poor nations
5. The “invisible hand” directs economic activity through
a. advertising.
b. prices.
C. central planning.
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d. government regulations.
6. When a production possibilities frontier shifts outward, it is demonstrating the concept of

a. tradeoffs.
b. efficiency.
C. economic growth.

d. opportunity cost.
7. The principle of absolute advantage refers to the situation in which one producer:

a. can produce a good in greater quantities than other producers.
b. can produce a good using less resources than other producers.
C. is able to produce exactly the same quantity of a good as other producers.
d. has access to more resources than other producers.
8. The principle of comparative advantage suggests all of the following, EXCEPT:
a. specialization allows producers to become more efficient.
b. free trade tends to cause bankruptcies and high unemployment.
C. free trade allows producers to specialize.
d. as producers become more efficient, overall production increases, making
everybody better off.
9. Which of the following would be considered a topic of study in macroeconomics?
a. the impact of agricultural price support programs in the cotton industry
b. the effect on U.S. steel producers of an import quota imposed on foreign steel
C. the effect of an increase in the price of imported oil on the U.S. inflation rate
d the effect of an increase in the price of imported coffee beans on the U.S.

coffee industry

10. Suppose that engaging in free trade means we have to stop making cars, which could
cause American car manufacturers to reduce output and could cause people to lose jobs. Is it worth

it having free trade?

a. Yes, because in spite of the lost jobs, we still want to get along with other
nations.

b. Yes, because the gains outweigh the losses: new businesses and new jobs will
flourish in other industries.

C. No, because we need to protect our jobs.

d. No, because our wages would have to fall drastically to make us remain

competitive with low wage countries.
1l. Please, determine which expressions are correct and which are not correct and explain:
A. Scarcity means that there is less of a good or resource available than people wish to have.

B. Normative statements describe how the world is, while positive statements prescribe
how the world should be.

C. Nations should specialize in producing those goods for which they have an absolute
advantage.

HI. Using this outline, draw a circular-flow diagram representing the interactions between
households and firms in a simple economy. Explain briefly the various parts of the diagram.

3anaHus K KOHTPOJIbHOM padore No2:

Bapmuanr 1.
1. Choose a correct variant:
1. Buyers and sellers who have no influence on market price are referred to as
a. price makers.
b. market pawns.
c. price takers.
d. powerless.
2. Which of the following would NOT be a determinant of demand?
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a. the price of related goods

b. income

c. tastes

d. the prices of the inputs used to produce the good
3. A leftward shift in supply is
a. an increase in supply.

b. adecrease in supply.

c. adecrease in quantity supplied.

d. anincrease in quantity supplied.
4. An inelastic demand means that

a. consumers hardly respond to a change in price.

b. consumers respond substantially to a change in price.

c. consumers respond directly to a change in income.

d. the change in quantity demanded is equal to the change in price.
5. The elasticity of demand for luxuries tends to be

a. Qreater than 1.

b. lessthan 1.
c. equaltol.
d. equaltoO.
6. A perfectly elastic demand curve will be
a. vertical.
b. horizontal.

c. downward sloping to the right.
d. upward sloping to the right.
7. If a change in the price of a good results in no change in total revenue,
a. the demand for the good must be elastic.
b. the demand for the good must be inelastic.
c. the demand for the good must be unit elastic.
d. buyers must not respond very much to a change in price.
8. A price ceiling that is not binding will
a. cause a surplus in the market.
b. cause a shortage in the market.
c. cause the market to be less efficient.
d. have no effect on the market price.
9. When OPEC raised the price of crude oil in the 1970s, it caused the
a. demand for gasoline to increase.
b. demand for gasoline to decrease.
c. supply of gasoline to increase.
d. supply of gasoline to decrease.
10. A tax placed on the seller of a good
a. raises the price buyers pay and lowers the price sellers receive.
b. lowers the price buyers pay and raises the price sellers receive.
c. raises both the price buyers pay and the price sellers receive.
d. lowers both the price buyers pay and the price sellers receive.
11. Please, determine which expressions are correct and which are not correct and explain:
A. The law of demand states that the quantity demanded of a product is positively related to
price.

B. If buyers of a product are required to pay a tax, the demand curve for the product will shift
downward by exactly the size of the tax.

C. Supply tends to be more elastic in the short run and more inelastic in the long run.

HI. How does elasticity affect the burden of a tax? Justify your answer using supply and
demand diagrams.
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the price to $35 each, they sold 14 per month. The elasticity of demand for kittens would be

good is

Bapuanr 2.

Choose a correct variant:
1. An example of complementary goods would be
a. hamburgers and hot dogs.
b. lawnmowers and automobiles.
c. hamburgers and fries.
d. Coke and Pepsi.
2. The law of demand says that when price
a. rises, quantity demanded falls.
b. rises, quantity demanded rises also.
c. falls, quantity supplied rises.
d. falls, quantity supplied falls also.

3. When the price is higher than the equilibrium price,

a. ashortage will exist.

b. Dbuyers desire to purchase more than is produced.
sellers desire to produce and sell more than buyers wish to purchase.

quantity demanded equals quantity supplied.

elastic.

horizontal.
C. unitelastic.
d. inelastic.

C.
d.

4. If a good is a necessity, demand for the good would tend to be
a.
b.

5. When the price of kittens was $25 each, the pet shop sold 20 per month. When they raised

a. 1.66.
b. 1.06.
c. 0.94.
d. 0.60.
6. Which of the following would you expect to have the highest income elasticity of demand?
a. water
b. diamonds
c. hamburgers
d. housing
7. If an increase in income results in a decrease in the quantity demanded of a good, then the
a. aninferior good.
b. anecessity.
c. anormal good.
d. aluxury
8. A legal minimum price at which a good can be sold is a price
a. cut.
b. stabilization.
c. ceiling.
d. floor.

9. Rent control is

a. acommon example of a social problem solved by government regulation.

b. acommon example of a price ceiling.

c. the most effective way to provide affordable housing.

d. the most efficient way to allocate housing.

10. A tax of $0.10 per bar on the sellers of Snickers will cause the
a. supply curve of Snickers to shift down by $0.10.

b. supply curve of Snickers to shift up by $0.10.
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c. supply curve of Snickers to shift down by $0.05.
d. demand curve of Snickers to shift up by $0.10.
11. Please, determine which expressions are correct and which are not correct and explain:
A. If buyers of a product are required to pay a tax, the demand curve for the product will shift
downward by exactly the size of the tax
B. If the price elasticity of demand is equal to 0, demand is unit elastic.
C. The law of supply states that other things equal, when the price of a good rises, the
quantity supplied of the good falls
1. Using a supply-demand diagram, show a labor market with a binding minimum wage.
Now, use the diagram to show those who are helped by the minimum wage, and those who are hurt
by the minimum wage.

3anaHus K KOHTPOJIbHOM padore Ne3:

Bapuanr 1.
1. Choose a correct variant:
1. Welfare economics is the study of
a. the well-being of less fortunate people.
b. welfare programs in the United States.
c. the effect of income redistribution on work effort.
d. how the allocation of resources affects economic well-being.
2. Willingness to pay measures the
a. amount a buyer is willing to pay for a good minus the amount the buyer actually pays

for it.

b. amount a seller actually receives for a good minus the minimum amount the seller is
willing to accept.

c. maximum amount a buyer is willing to pay minus the minimum amount a seller is
willing to accept.

d. maximum amount that a buyer will pay for a good.

3. Shannon buys a new CD player for her car for $135. She receives consumer surplus of $25

on her purchase. Her willingness to pay is

a. 9$25.

b. $110.
c. $135.
d. $160.

4. Producer surplus is the area
a. under the supply curve.
b. between the supply and demand curves.
c. below the price and above the supply curve.
d. under the demand curve, and above the price.
5. Economic analysis uses which of the following to judge the effect of taxes on economic
welfare?
a. government spending
b. consumer and producer surplus
c. equilibrium price and quantity
d. opportunity cost
6. The amount of deadweight loss that will result from a tax is determined by the
a. price elasticity of demand and supply.
b. number of buyers of the product in the market.
c. number of suppliers of the product in the market.
d. percentage of the purchase price the tax amounts to.
7. If the supply of a good is relatively elastic, changing the price causes
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a. arelatively small change in the amounts that buyers are willing to buy.
b. arelatively small change in the amounts sellers are willing to sell.
c. arelatively large change in the amounts sellers are willing to sell.
d. no change in the amounts sellers are willing to sell.
8. When two countries choose to engage in international trade,
a. both countries will benefit.
b. one country benefits while the other country loses.
c. since it is an exchange, neither country benefits nor loses.
d. we would need additional information to determine if either country benefits.
9. When a country allows free trade,
a. the domestic price will be greater than the world price.
b. the domestic price will be lower than the world price.
c. the domestic price will equal the world price.
d. it does not matter what the world price is; the domestic price is the prevailing price.
10. To correctly analyze the welfare effects of free trade on an economy, economists must
assume that the country
a. has a comparative advantage in the product.
b. isthe only producer of the product.
c. isaprice taker.
d. has an absolute advantage in the product.
11. Please, determine which expressions are correct and which are not correct and explain:
A. Total surplus in a market can be measured as the area below the supply curve and the area
above the demand curve.
B. A tax on a good causes the size of the market to increase.
C. Without free trade, the domestic price of a good must be equal to the world price of a good.
1. Using demand and supply diagrams, show the difference in deadweight loss between a
market with inelastic demand and supply curves and a market with elastic demand and supply curves.

Bapmuanr 2.
1. Choose a correct variant:
1. Consumer surplus is
a. abuyer’s willingness to pay minus the price.
b. abuyer’s willingness to pay plus the price.
c. the price of the product minus the buyer’s willingness to pay.
d. when the buyer’s willingness to pay and the price of the product are equal
2. Denise values a stainless steel dishwasher for her new house at $500, but buys it for $350.
Denise’s willingness to pay is

a. $150.
b. $350.
c. $500.
d. $850.

3. A supply curve can be used to measure producer surplus because it reflects
a. the actions of sellers.
b. quantity supplied.
c. sellers’ costs.
d. the amount that will be purchased by consumers in the market.
4. Whether a tax is levied on the buyer or seller of the good does not matter because
a. sellers always bear the full burden of the tax.
b. buyers always bear the full burden of the tax.
c. buyers and sellers will share the burden of the tax.

d. sellers bear the full burden if the tax is levied on them, and buyers bear the full burden
if the tax is levied on them.
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5. The benefit received by the government from a tax is measured by
a. deadweight loss.
b. tax revenue.
c. equilibrium
6. Total surplus with a tax is equal to
a. consumer surplus and producer surplus.
b. consumer surplus minus producer surplus.
c. consumer surplus, producer surplus, and total surplus.
d. consumer surplus, producer surplus, and tax revenue
7. Countries usually impose restrictions on free foreign trade to protect
a. foreign producers.
b. foreign consumers.
c. domestic producers.
d. domestic consumers.
8. If the world price of a product is higher than a country’s domestic price we know that
country
a. should import that product.
b. should no longer produce that product.
c. has a comparative advantage in that product.
d. could benefit by imposing a tariff on that product.
9. When a country allows trade and becomes an exporter of a good consumer surplus
a. and producer surplus will increase.
b. and producer surplus will decrease.
c. will increase and producer surplus will decrease.
d. will decrease and producer surplus will increase.
10. Trade is beneficial because it
a. creates jobs for middlemen.
b. creates jobs for shippers.
c. allows each nation to apply economic pressure on other nations.
d. allows each nation to specialize in doing what it does best.
11. Please, determine which expressions are correct and which are not correct and explain:
A. In order for market outcomes to maximize the total benefits to buyers and sellers, the
markets must be perfectly competitive.
B. The more inelastic the demand and supply curves, the greater the deadweight loss of a tax.
C. The sum of consumer and producer surplus measures the total benefits that buyers and
sellers receive in a market.
HI. Hlustrate on three demand and supply graphs how the size of a tax (small, medium and
large) can alter total revenue and deadweight loss.

3agaHus K KOHTPOJIbHOM padore Ned:

Bapuanr 1.
Choose a correct variant:
. Which of the following would NOT be considered a negative externality?
. Smelter, Inc. creates steel and pollution in Anytown, U.S.A.
. Your friend buys a new puppy that barks every night.
. You have an adverse reaction to a medication your doctor prescribed for you.
. Your neighbor buys the most powerful stereo money can buy for his patio
. When negative externalities are present in a market
. private costs will be greater than social costs.
social costs will be greater than private costs.

TCONOO TR
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. government regulation to resolve the problem is always necessary.
. the market will not be able to reach any equilibrium situation.
. the government intervenes in markets with externalities it does so to
increase production when negative externalities are present.
. protect interests of bystanders.
make certain all benefits are received by market participants.
. better coordinate the action of buyers and sellers.
. Goods that are both excludable and rival would be considered
a. natural monopolies.
b. common resources.
c. public goods.
d. private goods.

rAoOTD® W

5. Both public goods and common resources are
a. rival.
b. nonrival.

c. excludable.
d. nonexcludable.
. Because general knowledge is not excludable
a. the government contributes to its production.
b. the cost generally outweighs the benefit to society.
c. private markets would choose to not supply any general knowledge to society.
d. general knowledge cannot be “supplied” to the market by anyone since it is not a

()]

product.
7. The Tragedy of the Commons results when a good is
a. rival and not excludable.
b. excludable and not rival.
c. both rival and excludable.
d. neither rival nor excludable.
8. Most people agree that the tax system
should be both efficient and equitable.
b. cannot raise enough revenue to cover government expenditures.
c. could raise more revenue if tax rates were lowered.
d. should be rewritten to require everyone to pay the same percentage of their income to

o

taxes.
9. Deadweight losses occur in markets in which
a. firms decide to downsize.
b. the government imposes a tax.
c.  profits fall because of low consumer demand.
d. equilibrium price rises, causing a loss in consumer surplus.
10. The average tax rate measures the
a. fraction of spending paid in taxes.
b. fraction of income paid in taxes.
c. incremental rate of tax on income.
d. average deadweight loss from all taxes.
11. Please, determine which expressions are correct and which are not correct and explain:
A. Negative externalities lead markets to produce a smaller quantity of a good than is socially
desirable, while positive externalities lead markets to produce a larger quantity of a good than is
socially desirable.
B. Clean air and clean water are both public goods.
C. Lump-sum taxes are equitable but not efficient.
1. Using a supply and demand diagram, demonstrate how a positive externality leads to
market inefficiency. How might the government help to eliminate this inefficiency?.

19



Bapuanr 2.
1. Choose a correct variant:
1. An externality is the impact of
a. society's decisions on the well-being of society.
b. a person's actions on that person's well-being.
c
d

. one person's actions on the well-being of a bystander.
. society's decisions on the well-being of one person in the society.
2. A fertilizer plant emits a very foul odor during the production process. If the government
forces the plant to internalize this negative externality, then the
a. supply curve for fertilizer would shift to the right (down).
b. supply curve for fertilizer would shift to the left (up).
c. demand curve for fertilizer would shift to the right (down).
d. demand curve for fertilizer would shift to the left (up).
3. A market that experiences a positive externality will also experience a
a. smaller market output and a higher market price than is optimal.
b. greater market output and lower market price than is optimal.
c. greater market output and higher market price than is optimal.
d. smaller market output and lower market price than is optimal.
. Employing a lawyer to draft and enforce a private contract between parties wishing to solve
an externality problem is an example of
a. an opportunity cost.
b. an implicit cost.
C. asunk cost.
d. atransaction cost
5. A good is excludable if
a. one person's use of the good diminishes another person's enjoyment of it.
b. the government can regulate its availability.
c. itisnotanormal good.
d. people can be prevented from using it.
6. Goods that are nonexcludable and nonrival are
a. public goods.
b. private goods.
c. natural monopolies.
d. common resources.
a.

o~

7. For both public goods and common resources, an externality arises because
something of value has no price attached to it.
b. the goods are undervalued by society.
c. the social optimum level of output is lower than the market equilibrium’s.
d. All of the above are correct.
8.High marginal tax rates
a. distort incentives to work.
b. are used to encourage saving behavior.
c. will invariably lead to lower average tax rates.
d. are not associated with deadweight losses.
9. The most efficient tax possible is a
a. marginal income tax.
b. lump-sum tax.
C. consumption tax.
d. Corporate profit tax.
10. Vertical equity and horizontal equity are associated with
a. the benefits principle of taxation.
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of $5.0

b. the ability-to-pay principle of taxation.

c. taxes that have no deadweight losses.

d. falling marginal tax rates.
11. Please, determine which expressions are correct and which are not correct and explain:
A. A technology spillover is a type of negative externality
B. A free-rider is someone who receives the benefit of a good but avoids paying for it.
C. Vertical equity is not consistent with a regressive tax structure.
1. Using a supply and demand diagram, demonstrate how a negative externality leads to
inefficiency. How might the government help to eliminate this inefficiency?

3aaHus K KOHTPOJIbHOI padore NeS:

Bapuanr 1.
1. Choose a correct variant:
1.Economic profit is equal to
a. total revenue minus the explicit cost of producing goods and services.
b. total revenue minus the opportunity cost of producing goods and services.
c. total revenue minus the accounting cost of producing goods and services.

d. average revenue minus the average cost of producing the last unit of a good or service.

2. Average fixed cost will be
a. always rising.
b. always falling.
c. U-shaped.
d. constant.
3. The efficient scale of the firm is the quantity of output that
a. maximizes marginal product.
b. maximizes profit.
C. minimizes average total cost.
d. minimizes average variable cost.
. In the long run, a profit maximizing firm will choose to exit a market when
. fixed costs exceed sunk costs.
. revenue from production is less than total costs.
. average fixed cost is rising.
. marginal cost exceeds marginal revenue at the current level of production

oo oo M

o

. What would be the firm's total revenue when it produces 3 units of output?
$15
. $50
$65
. cannot be determined from the information given
. When calculating marginal cost, what must the firm know?
. fixed cost
. sunk cost
. variable cost
. all of the above
. When an industry is a natural monopoly,
a. itis characterized by constant returns to scale.
b. itis characterized by diseconomies of scale.
c. alarger number of firms may lead to a lower average cost.
d. alarger number of firms will lead to a higher average cost.
8. One characteristic of an oligopoly market structure is:
a. firms in the industry are typically characterized by very diverse product lines.

NoooTpoa0 oD

. When a firm in a competitive market produces 10 units of output, it has a marginal revenue
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b. firms in the industry have some degree of market power.
c. products typically sell at a price that reflects their marginal cost of production.
d. the actions of one seller have no impact on the profitability of other sellers.
9. There are two types of markets in which firms face some competition yet are still able to

have some control over the prices of their products. The names given to these market structures are

good.

a. monopolistic competition and oligopoly.
b. duopoly and triopoly.
c. perfect competition and monopolistic competition.
d. duopoly and imperfect competition.
10. A monopolist's average revenue is always
a. equal to marginal revenue.
b. greater than the price of its product.
c. equal to the price of its product.
d. less than the price of its product.
1l. Please, determine which expressions are correct and which are not correct and explain:
A. Average variable cost is equal to total fixed cost divided by quantity of output
B. For a monopoly, marginal revenue is often greater than the price they charge for their

C. Perfect competition occurs when there are many firms in a market offering essentially

identical products.

costs?

1. What are opportunity costs? How do explicit and implicit costs relate to opportunity

Bapuanr 2.
1. Choose a correct variant:
1. Total revenue equals
a. total output multiplied by price per unit of output.
b. total output divided by profit.
c. (total output multiplied by sales price) — inventory surplus.
d. (total output multiplied by sales price) — inventory shortage.
2. Which of the following expressions is correct?
a. accounting profit = economic profit + implicit costs
b. accounting profit = total revenue — implicit costs
c. economic profit = accounting profit + explicit costs
d. economic profit = total revenue — implicit costs
3. When a firm is operating at an efficient scale,
a. average variable cost is minimized.
b. average fixed cost is minimized.
c. average total cost is minimized.
d. None of the above are correct.
4. Patent and copyright laws are major sources of
a. natural monopolies.
b. government-created monopolies.
c. resource monopolies.
d. None of the above are correct.
5.A firm that is a natural monopoly
a. is not likely to be concerned about new entrants eroding its monopoly power.
b. is taking advantage of economies of scale.
c. would experience a higher average total cost if more firms entered the market.
d. All of the above are correct.
7. Which of the following is not a characteristic of a competitive market?
a. Firms are price takers.
b. There are many sellers in the market.
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c. Goods offered for sale are largely the same.
d. Firms have difficulty entering the market.
8. The additional revenue a firm in a competitive market receives if it increases its production
by one unit equals its
a. average revenue.
b. price.
c. marginal revenue.
d. all of the above.
9. One key difference between an oligopoly market and a competitive market is that
oligopolistic firms
a. are price takers while competitive firms are not.
b. are interdependent while competitive firms are not.
c. sell completely unrelated products while competitive firms do not.
d. sell their product at a price equal to marginal cost while competitive firms do not.
10. Typical firms in our economy are classified as
perfectly competitive.
imperfectly competitive.
duopolists.
. oligopolists
1l. Please, determine which expressions are correct and which are not correct and explain:
A. Like monopolies, competitive firms choose to produce a quantity in which marginal
revenue equals marginal cost.
B. Fixed costs are those costs that remain fixed no matter how long the time horizon is.
C. Total profit for an oligopolist is less than that of a perfectly competitive firm.
1. What effect does the number of firms in an oligopoly have on the characteristics of the
market?

oo ow

3anaHus K KOHTPOJIbHOM padore Ne6:

Bapmuanr 1.
1. Choose a correct variant:
1. Gross Domestic Product is defined as
a. the market value of all final goods and services produced within a country in a given period
of time.
b. the market value of all final goods and services produced by a country's citizens in a given
period of time.
c. the market value of all goods and services produced within a country in a given period of
time.
d. the market value of all goods and services produced by a country's citizens in a given
period of time
2. GDP includes the value of final goods and not intermediate goods because
a. the value of intermediate goods is already included in the value of final goods.
b. the value of intermediate goods is too difficult to measure.
c. the value of intermediate goods is measured by GNP.
d. the value of intermediate goods depends on the number of separate productionuprocesses.
3. In order to include many different products in a summary or aggregate measure, GDP
a. uses a combination of weights and measures.
b. uses a combination of price indexes and costs of production of the products.
c. uses only the cost of production of the products.
d. uses market prices
4. For the purpose of national accounting, ‘Consumption’ refers to the:
a. spending done by households on everything except house purchases.
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b. wear and tear through the normal use of machinery and equipment.

c. way Tuberculosis used to be called in the 19th century, at the time when economists were
figuring out national accounting standards.

d. wear and tear of highways and infrastructure through normal use.

5. Suppose you find out that the GDP of China is $1,000 billion and the GDP of the United

States is $10,000 billion. You should conclude that

a. the typical person in the United States is 10 times as well off as the typical person in China.

b. the typical person in the United States is more than 10 times as well off as the typical
person in China.

c. the typical person in the United States is less than 10 times as well off as the typical person
in China.

d. itis not possible to make a good comparison of the economic well-being of typical
individuals in the two countries without additional information.

6. What isn’t a component of GDP?

a. A family buys a new refrigerator.
. Aunt Jane buys a new house.
. Ford sells a Mustang from its inventory.
. 'You buy a pizza.
. Technological knowledge refers to
. the amount of time the population has devoted to reading society's textbooks.
. available information on how to produce things.
. resources expended transmitting society's understanding to the labor force.
. All of the above are technological knowledge.

8. One of the Ten Principles of Economics in Chapter 1 is that people face tradeoffs. The
growth that arises from capital accumulation is not a free lunch: It requires that society

a. conserve resources for future generations.

b. recycle resources so that future generations can produce goods and services with the
accumulated capital.

c. sacrifice consumption goods and services now in order to enjoy more consumption in the
future.

d. None of the above are correct.

9. Other things equal, relatively poor countries tend to

a. grow slower than relatively rich countries; this is called the fall-behind effect.

b. grow slower than relatively rich countries; this is called the Malthus effect.

c. grow faster than relatively rich countries; this is called the catch-up effect.

d. grow faster than relatively rich countries; this is called the constant-returns-toscale effect.

10. Investment from abroad

a. is a way for poor countries to learn the state-of-the-art technologies developed and used in
richer countries.

b. is encouraged by economists.

c. often requires removing restrictions that governments have imposed on foreign ownership
of domestic capital.

d. All of the above are correct.
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11. Please, determine which expressions are correct and which are not correct and explain:

A. Net exports equal the foreign purchases of domestically produced goods (exports) plus the
domestic purchases of foreign goods (imports).

B. A price increase in an imported consumption good, such as a VVolvo, shows up in the
consumer price index but not in the GDP deflator.

C. Apple’s output in Singapore ends up in America’s GDP; the cars produced at Honda’s
Ohio plant are counted in Singapore’s GDP
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1. Which do you think has a greater effect on the consumer price index: a 10 percent
increase in the price of chicken or a 10 percent increase in the price of caviar? Why?
Bapuanr 2.
1. Choose a correct variant:
1. Gross Domestic Product measures:
a. the total income in the economy, but not the total expenditure on the economy's output.
b. the total expenditure on the economy's output, but not the total income in the economy.
c. both the total income in the economy and the total expenditure on the economy's output.
d. neither the total income in the economy nor the total expenditure on the economy's output.
2. Assume households purchase all greeting cards. In calculating GDP, the government will
include the value:
a. of all the paper as well as all the greeting cards produced in the economy.
b. of all the greeting cards but of none of the paper.
c. of all of the greeting cards and any paper that is added to inventory.
d. of some of the greeting cards and all of the paper.
3. For the purposes of national accounting, 'Investment' can be defined as:
a. depositing money in Certificates of Deposits (CDs) or Money Market accounts.
b. purchases of stocks and bonds.
c. spending on capital equipment, inventories, and structures.
d. putting money away in a 401K pensions fund system.
4. If the Nominal GDP is $1.6 trillion, and the Real GDP is $1.0 trillion, the GDP deflator is:
a. 160
b. 62.5
c. 60
d.37.5
5. If total spending rises from one year to the next, then
a. the economy must be producing a larger output of goods and services.
b. prices at which goods and services are sold must be higher.
c. either the economy must be producing a larger output of goods and services, or the prices at
which goods and services are sold must be higher, or both.
d. net exports must be falling.
6. If you buy a new snowboard from the local sporting goods store, as a result of your
purchase
a. the increase in expenditure in the economy will equal the increase in income in the
economy.
b. the increase in expenditure in the economy will exceed the increase in income in the
economy.
c. the increase in income in the economy will exceed the increase in expenditure in the
economy.
d. it is impossible to tell whether the increase in income in the economy will equal the
increase in expenditure.
7. The term "brain drain" refers to
a. the emigration of many of the most highly educated workers from poor to rich countries.
b. the loss of knowledge due to a poor educational system in a country.
c. a situation where the population grows faster than the level of education.
d. a situation where one country robs technological knowledge from another country.
8. Inward-oriented policies
a. have generally increased productivity and growth in the countries that pursued them.
b. include imposing tariffs and other trade restrictions.
c. promote production of goods and services within a country that they can produce most
efficiently.
d. All of the above are correct.
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9. Patents turn new ideas into

a. private goods, and increase the incentive to engage in research.

b. private goods, but decrease the incentive to engage in research.

c. public goods, and increase the incentive to engage in research.

d. public goods, and decrease the incentive to engage in research.

10. Which of the following is generally an opportunity cost of investment in human capital?

a. increased earning potential

b. future job security

c. forgone wages at present

d. All of the above are correct.

1l. Please, determine which expressions are correct and which are not correct and explain:

A. If you buy a new snowboard from the local sporting goods store, as a result of your
purchase the increase in expenditure in the economy will equal the increase in income in the
economy.

B. GDP includes the value of final goods and not intermediate goods .

C. The CPI is usually expressed in terms of what the market basket cost in a specific base
year.

HI. If the price of a Navy submarine rises, is the consumer price index or the GDP deflator
affected more? Why?

3agaHus K KOHTPOJIbHOM padore Ne7:

Bapwuanr 1.
Choose a correct variant:
1. At the broadest level, the financial system moves the economy’s scarce resources from
. the rich to the poor.
. financial institutions to business firms and government.
. households to financial institutions.
. savers to borrowers.
. When a large, well-known corporation wishes to borrow directly from the public, it can
. sell bonds.
. sell shares of stock.
. o to a bank for a loan.
. All of the above are correct
3. We would expect the interest rate on Bond A to be higher than the interest rate on Bond B
if the two bonds have identical characteristics except that
a. the credit risk associated with Bond A is lower than the credit risk associated with Bond B.
b. Bond A was issued by the state of New York and Bond B was issued by the Exxon Mobil
Corporation.
c. Bond A has a term of 20 years and Bond B has a term of 2 years.
d. All of the above are correct.
4. As chief financial officer you sell newly issued bonds on behalf of your firm. Your firmis
a. borrowing directly.
b. borrowing indirectly.
c. lending directly.
d. lending indirectly
5. Which of the following would likely make the interest rate on a bond higher than
otherwise?
a. both high credit risk and a long term
b. high credit risk but not a long term
c. a long term but not a high credit risk
d. neither high credit risk nor a long term
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6. Which of the following statements is correct?

a A corporation receives a monetary payment every time its shares of stock are traded by
stockholders on organized stock exchanges.

b. When a corporation sells bonds as a means of raising funds it is engaging in debt finance.

¢. A share of stock is an 10U.

d The two most important financial markets in the economy are the stock market and
financial intermediaries.

7. The economy’s two most important financial markets are

a. the investment market and the saving market.

b. the bond market and the stock market.

c. banks and the stock market.

d. financial markets and financial institutions.

8. Which of the following is a financial market transaction?

a. A saver buys shares in a mutual fund.

b. A saver deposits money into a credit union.

c. A saver buys a bond a corporation has just issued so it can purchase capital.

d. None of the above is correct

9. Longterm bonds are

a. riskier than shortterm bonds, and so interest rates on longterm bonds are usually lower than
Interest rates on shortterm bonds.

b. riskier than shortterm bonds, and so interest rates on longterm bonds are usually higher
than interest rates on shortterm bonds.

c. less risky than shortterm bonds, and so interest rates on longterm bonds are usually lower
than interest rates on shortterm bonds.

d. less risky than shortterm bonds, and so interest rates on longterm bonds are usually higher
than interest rates on shortterm bonds.

10. If Proctor and Gamble sells a bond it is

a. borrowing directly from the public.

b. borrowing indirectly from the public.

c. lending directly to the public.

d. lending indirectly to the public.
11. Please, determine which expressions are correct and which are not correct and explain:

A. Banks and mutual funds are examples of financial markets.

B. When a corporation experiences financial problems, bondholders are paid before
stockholders.

C. When the government budget deficit rises, national saving is reduced, interest rates rise,
and investment falls.

1. Explain why the demand for loanable funds slopes downward and why the supply of
loanable funds slopes upward.

Bapmuanr 2.
Choose a correct variant:
1. The economy’s two most important financial markets are
a. the investment market and the saving market.
b. the bond market and the stock market.
c. banks and the stock market.
d. financial markets and financial institutions
2.Abondisa
a. financial intermediary.
b. certificate of indebtedness.
c. certificate of partial ownership in an enterprise.
d. None of the above is correct.
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. Which of the following is a financial-market transaction?
. A saver buys shares in a mutual fund.
. A saver deposits money into a credit union.
. A saver buys a bond a corporation has just issued so it can purchase capital.
. None of the above is correct.
. If the government's expenditures exceeded its receipts, it would likely
. lend money to a bank or other financial intermediary.
. borrow money from a bank or other financial intermediary.
. buy bonds directly from the public.
. sell bonds directly to the public.
. Which of the following is correct?
. Some bonds have terms as short as a few months.
. Because they are so risky, junk bonds pay a low rate of interest.
. Corporations buy bonds to raise funds.
. All of the above are correct.
6. Which of the following would likely make the interest rate on a bond higher than
otherwise?
a. both high credit risk and a long term
b. high credit risk but not a long term
c. a long term but not a high credit risk
d. neither high credit risk nor a long term
7. People who buy stock in a corporation such as General Electric become
a. creditors of General Electric, so the benefits of holding the stock depend on General
Electric's profits.
b. creditors of General Electric, but the benefits of holding the stock do not depend on
General Electric's profits.
c. part owners of General Electric, so the benefits of holding the stock depend on General
Electric's profits.
d. part owners of General Electric, but the benefits of holding the stock do not depend on
General Electric's profits.
8. As chief financial officer you sell newly issued bonds on behalf of your firm. Your firm is
a. borrowing directly.
b. borrowing indirectly.
c. lending directly.
d. lending indirectly.
9. The sale of stocks
a. and bonds to raise money is called debt finance.
b. and bonds to raise money is called equity finance.
c. to raise money is called debt finance, while the sale of bonds to raise funds is called equity
finance.
d. to raise money is called equity finance, while the sale of bonds to raise funds is called debt
finance.
10. Jerry has the choice of two bonds, one that pays 3 percent interest and one that pays 6
percent interest. Which of the following is most likely?
a. The 6 percent bond is less risky than the 3 percent bond.
b. The 6 percent bond is a U.S. government bond, and the 3 percent bond is a junk bond.
c. The 6 percent bond has a longer term than the 3 percent bond.
d. The 6 percent bond is a municipal bond, and the 3 percent bond is a U.S. government bond
Il. Please, determine which expressions are correct and which are not correct and explain:
A. An increase in the budget deficit shifts the demand for loanable funds to the right.
B. A government may use deficit financing to smooth tax rates over time.
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C. The demand for loanable funds comes from saving and the supply of loanable funds comes
from investment.
I1l. What is a role of financial system?

3aaHus K KOHTPOJIbHOI padore Ne§:

Bapuanr 1
Choose a correct variant:

1. Unemployment that results because the number of jobs available in some labor markets is
insufficient to provide a job for everyone who wants one
a. Structural unemployment
b. Natural rate of unemployment
c. Frictional unemployment
d. Cyclical unemployment
2. A worker association that bargains with employers over wages benefits and working
conditions
a. Union
b. Labor force
c. Job search
d. Strike
3. The normal rate of unemployment around which the unemployment rate fluctuates
a
b
C
d

Natural rate of unemployment

Cyclical unemployment

Structural unemployment

Frictional unemployment
4. The percentage of the labor force that is unemployed
a. Union
Unemployment rate
Efficiency wages
Unemployment insurance
. Above equilibrium wages paid by firms to increase worker productivity
Union
Strike
Efficiency wages
Unemployment rate
. The total number of workers including both the employed and the unemployed
. Strike
. Job search
Labor force
. Union
. The percentage of the adult population that is in the labor force
Labor force
Natural rate of unemployment
Labor force participation rate
Unemployment rate

8. A government program that partially protects workers incomes when they become

unemployed
. Job search
b. Unemployment insurance
c. Labor force
d. Unemployment rate
9. The process by which workers find appropriate jobs given their tastes and skills

=
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a. Strike

b. Union

c. Labor force

d. Job search

10.The deviation of unemployment from its natural rate

a. Natural rate of unemployment

b. Frictional unemployment

c. Structural unemployment

d. Cyclical unemployment

1l. Please, determine which expressions are correct and which are not correct and explain:

A) The activity of trade unions is to enter into negotiations with employers on wages and
working conditions.

B) According to the theory of effective wages, hanging up wages will lead to improved health

of workers and, as a result, increased productivity of their labor.
Q©) High unemployment benefits can lead to higher unemployment
111. How do unions affect the natural rate of unemployment?

Bapuanrt 2
Choose a correct variant:

The total number of workers including both the employed and the unemployed
Strike
Job search
Labor force
Union
. The percentage of the adult population that is in the labor force
Labor force
Natural rate of unemployment
Labor force participation rate
Unemployment rate
3. A government program that partially protects workers incomes when they become
unemployed
a. Job search
b. Unemployment insurance
c. Labor force
d. Unemployment rate
4. The process by which workers find appropriate jobs given their tastes and skills
a. Strike
b. Union
c. Labor force
d. Job search
5.The deviation of unemployment from its natural rate
a. Natural rate of unemployment
b. Frictional unemployment
c. Structural unemployment
d. Cyclical unemployment

oo O T

6. Unemployment that results because the number of jobs available in some labor markets is

insufficient to provide a job for everyone who wants one
a. Structural unemployment
b. Natural rate of unemployment
c. Frictional unemployment
d. Cyclical unemployment
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7. A worker association that bargains with employers over wages benefits and working

conditions

a. Union

b. Labor force

c. Job search

d. Strike

8. The normal rate of unemployment around which the unemployment rate fluctuates

a. Natural rate of unemployment

b. Cyclical unemployment

c. Structural unemployment

d. Frictional unemployment

9. The percentage of the labor force that is unemployed

a. Union

b. Unemployment rate

. Efficiency wages

d. Unemployment insurance

10. Above equilibrium wages paid by firms to increase worker productivity

a. Union

b. Strike

c. Efficiency wages

d. Unemployment rate

1l. Please, determine which expressions are correct and which are not correct and explain:
A) The activities of unions can lead to a reduction in workers who are not members of the
union.

B) In the modern economy, the wages of most workers exceed the minimum established by
law

C) Higher wages increase the likelihood of hiring a qualified employee

11. How do unions affect the natural rate of unemployment?

O

3agaHus K KOHTPOJbLHOM padore Ne9:

Bapmuanr 1.
1. Choose a correct variant:
1. Money is
a. the most liquid asset and a perfect store of value.
b. the most liquid asset but an imperfect store of value.
c. the least liquid asset but a perfect store of value.
d. the least liquid asset and an imperfect store of value.
2.Which of the following is not included in M1?
a. a $5 bill in your wallet
b. $100 in your checking account
c. $500 in your savings account
d. All of the above are included in M1.
3. Commodity money is
a. backed by gold.
b. the principal type of money in use today.
c. money with intrinsic value.
d. receipts created in international trade that are used as a medium of exchange.
4.Money market mutual funds are included in
a.M1 but not M2.
b.M1 and M2.
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¢.M2 but not M1.
d. neither M1 nor M2.
5. In a system of 100-percent-reserve banking,
a. banks do not accept deposits.
b. banks do not influence the supply of money.
c. loans are the only asset item for banks.
d. All of the above are correct
6. The revenue the government raises by creating money. The inflation tax is like a tax on
everyone who holds money
a. Shoeleather Costs
b. Velocity of Money
c. Capital Gains
d. Inflation Tax
7. Inflation occurs whenever
a. the price level rises.
b. the money supply increases.
c. the price level rises continuously over a period of time.
d. the price level falls continuously over a period of time.
8. The interest rate corrected for the effects of inflation
a. classical dichotomy
b. velocity of money
c. real interest rate
d. nominal interest rate
9. The interest rate as usually reported without a correction for the effects of inflation
a. shoeleather costs
b. nominal interest rate
c. monetary neutrality
d. real interest rate
10. Suppose a bank has $10,000 in deposits and $8,000 in loans. It has loaned out all it can
given the reserve requirement. It follows that the required reserve ratio is
a. 2 percent.
b. 12.5 percent.
c. 20 percent.
d. 80 percent.
1l. Please, determine which expressions are correct and which are not correct and explain:
A. A debit card allows its user to postpone payment for a purchase.
B. Deflation harms lenders and benefits borrowers.
C. Menu Costs are the costs of changing prices
I1I. What is the shape and source of the supply curve for money?

Bapuant 2.
I. Choose a correct variant:
1. If the reserve ratio is 12.5 percent, then $5,600 of money can be generated by
a.$64 of new reserves.
b.$448 of new reserves.
¢.$700 of new reserves.
d.$800 of new reserves
2. To increase the money supply, the Fed could
a.sell government bonds.
b.increase the discount rate.
c.decrease the reserve requirement.
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d.None of the above is correct.
3.When the Fed conducts open market purchases, reserves
a.increase and banks can increase lending.
b.increase and banks must decrease lending.
c.decrease and banks can increase lending.
d.decrease and banks must decrease lending.
4.Which list ranks assets from most to least liquid?
a.currency, fine art, stocks
b.currency, stocks, fine art
c.fine art, currency, stocks
d.fine art, stocks, currency
5.Commodity money is
a.backed by gold.
b.the principal type of money in use today.
c.money with intrinsic value.
d.receipts created in international trade that are used as a medium of exchange
6. A sale of government bonds by the Fed
a.increases the money supply and increases the federal funds rate.
b.increases the money supply and decreases the federal funds rate.
c.decreases the money supply and increases the federal funds rate.
d.decreases the money supply and decreases the federal funds rate
. The proposition that changes in the money supply do not affect real variables
. Classical Dichotomy
. Capital Gains
. Shoeleather Costs
. Monetary Neutrality
8. The rate at which money changes hands = (P x Y)/M
. Classical Dichotomy
. Velocity of Money
Inflation Tax
. Shoeleather Costs
. Variables measured in monetary units
. Capital Gains
. Velocity of Money
. Real variables
. Nominal Variables
10. An increase in the overall level of prices
a. deflation
b. inflation
c. hyperinflation
d. inflation tax
11. Please, determine which expressions are correct and which are not correct and explain:
A. When the reserve ratio is 0.5, then the money multiplier is 1 and banks do not create
money
B. In the long run, money supply and money demand are brought into equilibrium by the
overall level of prices.
C. There is a short-run tradeoff between inflation and unemployment.
1. What are reserve requirements? What happens to the money supply when the Fed raises
reserve requirements?
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Bapuanr 1.
Choose a correct variant:
1. . Another name given to Net Exports is:
a. trade value.
b. trade deficit.
c. trade balance.
d. balanced trade.
2. Net Exports are affected by which of the following?
i. Tastes of consumers.
ii. Prices of goods at home and abroad.
ili. The incomes of consumers at home and abroad.
Iv. Government policies toward international trade.
a. onlyi, ii, and iii

b. only ii, iii, and iv
c. onlyi,ii,andiv
d. all four

3.0ther things remaining equal, when domestic incomes rise, Net Exports:

a. will decrease.

b. will increase.

c. will remain unaffected.

d. might increase or decrease.

4. When Net Capital Outflow is positive, it means:

a. imports are bigger than exports.

b. domestic residents are spending more on foreign assets than foreigners are spending on
domestic assets.

c. foreigners are spending more on domestic assets than domestic residents are spending on
foreign assets.

d. none of the above.

5. Other things remaining equal, if real interest rates increase abroad, our:
net exports will decrease.
net capital outflow will increase.
net capital outflow will decrease.
none of the above.

o0 o

6. Other things remaining equal, if there is political or economic turmoil in the U.S., we can
expect our:
net exports will decrease.
net capital outflow will increase.
net capital outflow will decrease.
. none of the above.
. If the U.S. has a trade deficit, it means that:
saving in the U.S. is less than investment.
saving in the U.S. is grater than investment.
foreign incomes are greater than U.S. incomes.
foreign incomes are less than U.S. incomes.
. A government budget deficit does what to NCO and NX?
Decreases both NCO and NX
Capital flight
Net capital outflow and domestic investment
Reduce both domestic investment and NCO
9. If Americans wished to purchase more foreign assets, then the real exchange rate would ...
(rise/fall) and the quantity of dollars exchanged in the market for foreign-currency would ... (rise/fall)
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a. Canada NCO falls, other countries NCO would rise

b. Increase Mexican interest rates: Decreases the value of the Mexican peso

c. Real exchange rate would fall, quantity of dollars exchanged would rise

d. Domestic investment would rise, real exchange rate would fall

10. According to the Purchasing Power Parity Theory, if a dollar will buy more in the U.S.
than abroad, traders will , which will cause the dollar to

a. buy abroad and sell in the U.S., depreciate

b. buy abroad and sell in the U.S., appreciate

c. buyinthe U.S. and sell abroad, appreciate

d. buyinthe U.S. and sell abroad, depreciate

Please, determine which expressions are correct and which are not correct and explain:

A. Trade Surplus is an excess of imports over exports.

B.

Real Exchange Rate is the rate at which any person can trade the currency of one country

for the currency of another.

C. When the U.S. real exchange rate increases, U.S. goods become more attractive to
consumers both at home and abroad

HI. Describe the economic logic behind the theory of purchasing-power parity.

1.
1
a
b
c
d
2
a
b
C.
d
3
a
b
c
d
4
a

residents.

b.

Bapuanr 2.

. Choose a correct variant:

. International trade

. raises the standard of living in all trading countries.

. lowers the standard of living in all trading countries.

. raises the standard of living for importing countries and lowers it for exporting countries.
. raises the standard of living for exporting countries and lowers it for importing countries.
. Net exports of a country are the value of

. goods and services imported minus the value of goods and services exported.

. goods and services exported minus the value of goods and services imported.

goods exported minus the value of goods imported.

. goods imported minus the value of goods exported.

. A country sells more to foreign countries than it buys from them. It has
. a trade deficit and positive net exports.

. a trade surplus and negative net exports.

. a trade surplus and positive net exports.

. a trade deficit and negative net exports.

. Net capital outflow is defined as the purchase of

foreign assets by domestic residents minus the purchase of domestic assets by foreign

foreign assets by domestic residents minus the purchase of foreign goods and services by

domestic residents.

C.

domestic assets by foreign residents minus the purchase of domestic goods and services by

foreign residents.

d.

residents.
5.

a.

b.

C.

d.
6.

domestic assets by foreign residents minus the purchase of foreign assets by domestic

Bob, a Greek citizen, opens a restaurant in Chicago. His expenditures

increase U.S. net capital outflow and have no impact on Greek net capital outflow.
increase U.S. net capital outflow and increase Greek net capital outflow.

increase U.S. net capital outflow, but decrease Greek net capital outflow.

decrease U.S. net capital outflow, but increase Greek net capital outflow.

If you go to the bank and notice that a dollar buys more Mexican pesos than it used to, then

the dollar has



a. appreciated. Other things the same, the appreciation would make Americans less likely to
travel to Mexico.

b. appreciated. Other things the same, the appreciation would make Americans more likely to
travel to Mexico.

c. depreciated. Other things the same, the depreciation would make Americans less likely to
travel to Mexico.

d. depreciated. Other things the same, the depreciation would make Americans more likely to
travel to Mexico.

7. You are staying in London over the summer and you have a number of dollars with you. If
the dollar depreciates relative to the British pound, then other things the same,

a. the dollar would buy more pounds. The depreciation would discourage you from buying as
many British goods and services.

b. the dollar would buy more pounds. The depreciation would encourage you to buy more
British goods and services.

c. the dollar would buy fewer pounds. The depreciation would discourage you from buying as
many British goods and services.

d. the dollar would buy fewer pounds. The depreciation would encourage you to buy more
British goods and services.

8. If the exchange rate were 0.8 Canadian dollars per U.S. dollar, a watch that costs 8 U.S.
dollars would cost

a. 6.4 Canadian dollars.

b. 10 Canadian dollars.

c. 12.50 Canadian dollars.

d. 8 Canadian dollars.

9. If the dollar buys fewer bananas in Guatemala than in Honduras, then traders could make a
profit by

a. buying bananas in Honduras and selling them in Guatemala, which would tend to raise the
price of bananas in Honduras.

b. buying bananas in Honduras and selling them in Guatemala, which would tend to raise the
price of bananas in Guatemala.

c. buying bananas in Guatemala and selling them in Honduras, which would tend to raise the
price of bananas in Guatemala.

d. buying bananas in Guatemala and selling them in Honduras, which would tend to raise the
price of bananas in Honduras.

10. When a country experiences capital flight, its currency ... and net exports ...

a. Its currency depreciates, net exports rise

b. Less attractive, NCO rises

c. Net capital outflow and domestic investment

d. Reduce both domestic investment and NCO

1l. Please, determine which expressions are correct and which are not correct and explain:

A. Trade Surplus is an excess of imports over exports.

B. Real Exchange Rate is the rate at which any person can trade the currency of one country
for the currency of another.

C. When the U.S. real exchange rate increases, U.S. goods become more attractive to
consumers both at home and abroad

11. How does a higher interest rate affect borrowing and investment?

Ilepeyens Bonpocos k 3a4ery (1 cemecTp):

1. OrpanudeHHOCTH pecypcoB U ux 3HaueHue. [ TIB. AGcontoTHOE U cpaBHUTENBHOE
IPEUMYILECTBO. AJIbTEPHATUBHBIE U3AEPKKHU. [[03UTHBHBIN U HOPMAaTUBHBIN aHAJIN3.
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2. Cripoc u nipejyioxenue. PeiHOYHOE paBHOBECHE. DIaCTHIHOCTD. [IpsiMoe 1 KOCBEHHOE
peryIupoBaHue LeH IPABUTEIbCTBOM.

3. Konnenius nznumkoB. O1ieHKa ppIHOYHOTO paBHOBECHs. M31ep kKU HAIOT000I0KEHHUS.

4. MexayHapoaHasi TOProBilsi M OI[CHKA €€ pe3yIbTaToB.

5. DKkcTepHaIuu ¥ UX BUABL. PeiHOYHAS 3 (PEKTUBHOCTD MpH BHEMTHUX 3¢ dekrax. Bumbl
perieHust mpodsieMbl BHEITHUX 3P (PEKTOB.

6. ObmecrBennbie Osara. [Ipobaema 6e30mnerarka. O6mme pecypebl. Tpareaus oOUTMHHBIX
3eMeb.

7. Bugsl uzaepxek gupmsl. [IpuOsias GupMel. Y ciioBue MaKCUMHU3AIUH TPUOBLITH.

8. CoBepIlieHHass KOHKYPEHIIHS.

9. MoHormous ¥ IPUYUHBI €€ BOSHUKHOBEHHsI. MakCUMU3aIusl IPUOBUTA MOHOIIOJIUCTA.
Buapl 1eHOBOM JUCKPUMUHALIMY.

10. Monomnonus u sKoHOMHIYECKast 3)HeKTUBHOCTD. PerynipoBanrue MOHOIIONINH.

11. Onuronomnus.

12. MoHomnonucTu4ecKasi KOHKYpPEHITHS.

13. PwIHOK (p)aKTOPOB MPOU3BOJICTBA.

Ilepeuenb BonpocoB k 1ud¢epeHUNPOBAHHOMY 3aUeTy (2 cemecTp):

1. Usmepenne BBII. Cocrasnstomue BBII.  VYposenr BBII u  sxoHoMuueckoe
6J1ar0COCTOsIHUE.

2. Nnpnekc noTpeOUTENbCKUX TIEH.

3. IIpon3BOACTBO U 3KOHOMUYECKHH POCT.

4. DKOHOMUYECKHH POCT U MOJUTUKA TOCYAapCTBa.

5. @unaHcoBble ocpeHuKU. COepekeHHsl U UHBECTULIUH. PBIHOK 3a€MHBIX CPE/ICTB.

6. [lonuTHka B OTHOUICHWM HAJIOTOB, COEPEKCHWH M WHBECTUIUI: HAJOTH M COEpeKCHUS.
[TonuTHKa B OTHOLIEHUH HAJIOTOB, COEpeXeHUH M MHBECTHLIMI: HaJOrH W MHBecTUIMU. [lonuTuka B
OTHOIIECHUH HAJIOTOB, COEPEIKEHHUI N MHBECTUIIHIA: Ae(PUIIUT rOCYTapCTBEHHOTO JI0JITA.

7. Onpenenenue mnoHATHA Oe3pabotuipl. PakTopbl, O00YCIABIMBAIOIINE BO3HUKHOBEHHE
0e3paboTHIIbI.

8. Ponp u 3HaueHue neHer. DyHkuuu aeHer. CyIIHOCTh LEHTPAIbHBIX OaHKOB. baHku u
IPEJJIOKEHUS JICHET.

9. duHaHCOBBIE HHCTPYMEHTBl JEHEXHOro KoHTpond. IlpoGrmembl KOHTpons 3a
PEJI0KEHUEM JICHET.

10. VYpOBeHb 1IeH U LIEHHOCTh JeHer. [Ipennoxkenue neHer, cpoc Ha ACHBIU U JEHEKHOE
paBHOBecHe. DP(DHEKT NCeHS)KHONW UHBEKINH. Y PaBHEHHE KOJIMUYECTBEHHON TEOPUH JICHET.
11. W3 nepxku MHOIAIMH.

7.4. Meronuyeckue MaTeprallbl, ONpeaeSIone IpoLeaypbl OLICHUBAHUSI 3HAHUM, YMEHUH,
HAaBBIKOB U (WJIM) OMbITA JESATEIILHOCTH

DopMbI KOHTPOJIS

Texyuit — QppoHTaIbHBIE, KOMOMHUPOBAHHBIE ONPOCH! B paMKax ceMHHapa (BKJIaJl B
UTOTOBYIO O1leHKY — 10%)

[TpoMeKyTOUHBIN — BBIOJHEHUE KOHTPOJILHBIX pabOT (BKJIaj B UTOTOBYIO orieHKY — 40%)

HToroBelii — 3auer B yCTHOH (hopme (BKIJIaa B UTOTOBYIO Oo1eHKY — 50%)

HToroBas orieHKa — BBICTABIISIETCS] HCXOIS M3 0AIJIOB, TIOTYYEHHBIX HA CEMHHAPCKHUX
3aHATUSAX, OAJIIOB 32 KOHTPOJIbHBIE paOOTHI, OLIEHKH Ha 3a4eTe.

8. YYHEBHO-METOANYECKOE U THOOPMAIIMOHHOE OBECIIEYHEHHUE
JAUCHUITIJIMHBI (MO Y JIS)
a) OcHOBHas1 IUTEpPaTYypa:

1. IlnaxoBa B.A., AHrauiickuii 361k 1j1s S5koHoMucToB / [llnsxosa B. A. M. : Jlamkos u K,
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2016. URL: http://www.studentlibrary.ru/book/ISBN9785394022227.html (95C

«KoHCynbTaHT CTyAEHTa»).

0) JomosiHuTEIbHAS JIUTEpATypa:

1. PasymoBckas B.A., IlepeBomgum TekcThl 10 dkoHOMHMKe Translating Economy
[Onextponnsiii  pecypc] / PasymoBckas B.A. Kpacmospck : C®Y, 2017. URL:
http://www.studentlibrary.ru/book/ISBN9785763836769.html(ObC «KoHCyabTaHT CTyIEHTa»).

B) Ilepeuenb pecypcoB HHGPOPMANMOHHO-TEJIEKOMMYHHUKANUOHHON ceTH «MHTepHeT»,
He00XOIUMBIH 17151 0CBOCHUS M CHUIIMHBI (MOIYJIs1)

1. DJeKTpoHHas OUOIHOTEeKa «ACTPaXxaHCKUN rOCy1apCTBEHHBIN YHUBEPCUTET» COOCTBEHHOM
rerepanuu Ha mwiardpopme DBC «Dnexrpornsiit UntanbHeiii 3a1 — bubmunoTex». https://biblio.asu.edu.ru
2. OnektpoHHO-OnOnnoreynas cucrtema (OBC) OOO «llomurexpecypce» «KoHCynbTaHT

cTyneHTa». MHoronpoduiabHbl  00pa3oBarenbHbI  pecypc «KOHCYIBTaHT CTYAEHTa»  SBISAETCS
AIIEKTPOHHON OMOIMOTEUHOW CHCTEMOH, MPEJOCTABIAIONICH TOCTYH yepe3 ceTb VMHTepHeT K y4deOHOM
JauTepaType W JIOMOJHUTENbHBIM MaTepHualiaM, IPUOOpPEeTEHHbIM HAa OCHOBAaHUM MPSMBIX JOTOBOPOB C
npaBoobOnamgarensmMu. Karamor B HacTosimiee Bpems coluepkuT okono 15000 HamMeHOBaHWI.
www.studentlibrary.ru

9. MATEPUAJIBHO-TEXHUYECKOE OBECIIEYEHHME JUCHUIIJIMHBI (MOAY JIST)

B kadecTtBe MarepHalbHO-TEXHHYECKOTO O0OECNEYeHHUs TUCHUIUIMHBI (MOJYINSA) MOTYT OBITH
UCIIOJIb30BaHbl TEXHUYECKUE M D3JCKTPOHHBIE CpeICTBAa OOyYyeHHUS M KOHTPOJS 3HAHUI CTYIEHTOB
(MyIpTUMEIUIHBIE CPEACTBA, MPE3CHTALMN), UCIIOIb30BAHUE KOTOPBIX MPEIYCMOTPEHO METOAMYECKOU
KOHIIENIIMEH NpPernojaBaHus, a TaKKe NepeyeHb ayAUTOPUH (KOMIbIOTEpHBIE KJIACChl, aKaJeMHUUYECKUE
WM CHELMaIbHO 000PYJOBaHHbIE ayJUTOPUHU U 1a00paTOpuu, HAIUYUE JOCKH U T.1.).

ITpu HeoOxoauMocTH pabouasi mporpaMMa AUCUUIUIMHEL (MOIYJIs1) MOKET OBITh aJlaliTUPOBAaHA JUIs
oOecnieueHHss 00pa30BaTENbHOIO IpolLecca HMHBAJIUIAOB U JIMI[ C OTPAaHUYEHHBIMH BO3MOYKHOCTSMU
3]10pOBbsl, B TOM YHCJIE /Il O0Y4YEeHHUsI C MPUMEHEHUEM JTUCTAHLMOHHBIX 00pa30BaTeIbHbIX TEXHOJIOTHIA.
s storo Tpebyercs 3asBIEHHE CTyJEHTa (€ro 3aKOHHOTO MPEJCTaBUTENs) U 3aKJIIOUEHUE MCUXO0JIOTo-
MeauKko-tieaarorundeckoit komuccuu (ITMIIK).
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